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Passage for Question 1, 2, 3, 4, 5 (ST-18 IBPS PO PRE E (1-5) 2021)
eng Passage

Read the passage carefully and answer the questions based on it.

Nowadays everyone complains of stress. One common solution for de-stressing is to take a break from work and go sightseeing. This formula has increased
tourism, but it has failed to make people free of stress. There is the widespread notion that the holiday culture has only added a new item to the list of stressful things
and that is holiday stress.

The real problem is that modern day stress is intellectual in nature, while people are trying physical means to de-stress themselves. The nature of the present
problem entails that we find an intellectual solution. In this regard the Quran has this to say: “Those who believe and whose hearts find comfort in the remembrance
of God—surely in the remembrance of God hearts can find comfort.”

Remembrance of God means finding a high level on which to lead one’s life. That is, engaging in what is called ‘big bird” thinking in symbolic language. Trying to find
a solution for de-stressing at the same level at which the problem has been produced, is futile. Such a formula is not at all workable. Remembrance of God is the
only workable formula because it is an elevated formula. This provides a higher level to lead one’s life than that of the problem. The formula of remembrance of
God, in secular terms, can be called positive thinking. Remembrance of God is the religious term for positive thinking. Both these terms in their nature are one and
the same. Positive thinking is an expression of a developed personality.

In the material world of nature there are models of positive thinking. For example, in the branches of the rose plant there are flowers as well as thorns. But there is
no conflict between the two. The flowers and the thorns have learnt the art of peaceful living. Man must adopt this physical model in his life and then he will find that
stress has suddenly disappeared from his life. There is another aspect of the problem of stress.

Stress is not an evil. Stress is a boon. Stress engenders a sort of energy—stress-energy. It is the manner of its utilization that makes it good or bad, positive or
negative. If you have a developed mind, you can divert your stress energy towards positive thoughts rather than negative thoughts. Whether or not one finds certain
situations stressful largely depends upon one’s mental attitude towards them. They may not in themselves be stressful, but only require a calm appraisal of the
situation to be resolved rather than preoccupation with one’s own symptoms of stress. The best aid to such a course of action is the remembrance of our Creator.

hi Passage
Read the passage carefully and answer the questions based on it.

Nowadays everyone complains of stress. One common solution for de-stressing is to take a break from work and go sightseeing. This formula has increased
tourism, but it has failed to make people free of stress. There is the widespread notion that the holiday culture has only added a new item to the list of stressful things
and that is holiday stress.

The real problem is that modern day stress is intellectual in nature, while people are trying physical means to de-stress themselves. The nature of the present
problem entails that we find an intellectual solution. In this regard the Quran has this to say: “Those who believe and whose hearts find comfort in the remembrance
of God—surely in the remembrance of God hearts can find comfort.”

Remembrance of God means finding a high level on which to lead one’s life. That is, engaging in what is called ‘big bird’ thinking in symbolic language. Trying to find
a solution for de-stressing at the same level at which the problem has been produced, is futile. Such a formula is not at all workable. Remembrance of God is the
only workable formula because it is an elevated formula. This provides a higher level to lead one’s life than that of the problem. The formula of remembrance of
God, in secular terms, can be called positive thinking. Remembrance of God is the religious term for positive thinking. Both these terms in their nature are one and
the same. Positive thinking is an expression of a developed personality.

In the material world of nature there are models of positive thinking. For example, in the branches of the rose plant there are flowers as well as thorns. But there is
no conflict between the two. The flowers and the thorns have learnt the art of peaceful living. Man must adopt this physical model in his life and then he will find that
stress has suddenly disappeared from his life. There is another aspect of the problem of stress.

Stress is not an evil. Stress is a boon. Stress engenders a sort of energy—stress-energy. It is the manner of its utilization that makes it good or bad, positive or
negative. If you have a developed mind, you can divert your stress energy towards positive thoughts rather than negative thoughts. Whether or not one finds certain
situations stressful largely depends upon one’s mental attitude towards them. They may not in themselves be stressful, but only require a calm appraisal of the
situation to be resolved rather than preoccupation with one’s own symptoms of stress. The best aid to such a course of action is the remembrance of our Creator.

Q-1 According to the passage, which of the following is/are the worldwide belief/s?
eng A. Stress, regarded as evil is itself a boon in the long run if utilized properly.

B. Sightseeing, a way of reducing stress has in turn given rise to holiday stress.

C. Thinking, if developed generates positiveness lessening the negative power.

01 OnlyA 02. OnlyB
03. BothBand C 04. Both Aand C

05. Both A and B
Q-1 According to the passage, which of the following is/are the worldwide belief/s?



A. Stress, regarded as evil is itself a boon in the long run if utilized properly.
B. Sightseeing, a way of reducing stress has in turn given rise to holiday stress.
C. Thinking, if developed generates positiveness lessening the negative power.

01. Only A 02. OnlyB
03. BothBandC 04. Both A and C
05. Both A andB

Solution for Question 1 Ans Key: 2

The answer lies in the first paragraph of the passage.

The answer lies in the first paragraph of the passage.

""A situation can be stressful to one and it can be reverse to the other as it all mostly depends on the mental attitude of the person towards
the particular situation "

The given sentence can be inferred from-

01. Paragraph 2 02. Paragraph 5
03. Paragraph 1 04. Paragraph 3

05. Paragraph 4
""A situation can be stressful to one and it can be reverse to the other as it all mostly depends on the mental attitude of the person towards
the particular situation "

The given sentence can be inferred from-

01. Paragraph 2 02. Paragraph 5
03. Paragraph 1 04. Paragraph 3
0S. Paragraph 4

Solution for Question 2 Ans Key: 2

The answer lies in the fifth paragraph of the passage.

The answer lies in the fifth paragraph of the passage.

Which of the following messages are irrelevant to the writer’s point of view?

A. Termed as the elated formula is the big bird formula where one tries to find the solution at the same level of the problem.
B. The stress observed these days, modern-day stress is intellectual in nature which cannot be diminished by physical means.
C. The formula which has increased tourism is that to de-stress oneself, one should take a break from our daily life and go on a holiday.

01. Only A 02. OnlyB
03. Only C 04. Both A and B

05. Both A and C
Which of the following messages are irrelevant to the writer’s point of view?

A. Termed as the elated formula is the big bird formula where one tries to find the solution at the same level of the problem.
B. The stress observed these days, modern-day stress is intellectual in nature which cannot be diminished by physical means.
C. The formula which has increased tourism is that to de-stress oneself, one should take a break from our daily life and go on a holiday.

01. Only A 02. OnlyB
03. OnlyC 04. Both A and B
05. Both A and C

Solution for Question 3 Ans Key: 1

eng

The answer can be inferred from the third paragraph of the passage.

hi

The answer can be inferred from the third paragraph of the passage.

Q-4

eng

With reference to the passage, the flower model/s based on positive thinking is/are —

A. Model of the sunflower plant.
B. Model of a hibiscus plant.

C. Model of a rose plant.

D. Model of a marigold plant.



01. OnlyB 02. Both AandC

03. OnlyC 04. Both Band D

05. Only D
Q-4 With reference to the passage, the flower model/s based on positive thinking is/are —
hi

A. Model of the sunflower plant.

B. Model of a hibiscus plant.

C. Model of a rose plant.

D. Model of a marigold plant.

01. OnlyB 02. Both AandC

03. OnlyC 04. BothBand D

05. Only D
Solution for Question 4 Ans Key: 3
eng The answer can be inferred from the fourth paragraph of the passage.
hi The answer can be inferred from the fourth paragraph of the passage.

Q-5 On the basis of your reading, what should be the tone of the passage?

01. Emotional Tone 02. Patronizing Tone
03. Sarcastic Tone 04. Biased Tone
05. Humorous Tone
Q-5 On the basis of your reading, what should be the tone of the passage?
01. Emotional Tone 02. Patronizing Tone
03. Sarcastic Tone 04. Biased Tone

05. Humorous Tone
Solution for Question 5 Ans Key: 4

While favouring one thing over the other, we tend to use a biased tone to display our inclination towards it. Similarly, the author uses a biased
tone and presents arguments in favour of a particular thing/theory in the passage and here the author favours ‘remembrance of God to reduce
stress’, so it is the correct answer.

For other options:

While narrating an incident/event/story, the author uses an emotional tone of writing in order to portray the feelings regarding the same.
A patronizing tone implies an attitude of patronizing superiority of a particular thing/person/group.

Sarcastic Tone is where the author uses his words to ridicule the topic under discussion.

One of the most interesting tones of writing, a humorous tone is witty and amusing at the same time.

While favouring one thing over the other, we tend to use a biased tone to display our inclination towards it. Similarly, the author uses a biased
tone and presents arguments in favour of a particular thing/theory in the passage and here the author favours ‘remembrance of God to reduce
stress’, so it is the correct answer.

For other options:

While narrating an incident/event/story, the author uses an emotional tone of writing in order to portray the feelings regarding the same.
A patronizing tone implies an attitude of patronizing superiority of a particular thing/person/group.

Sarcastic Tone is where the author uses his words to ridicule the topic under discussion.

One of the most interesting tones of writing, a humorous tone is witty and amusing at the same time.

Passage for Question 6, 7, 8, 9, 10 (ST-18 IBPS PO PRE E (6-10) 2021)
eng Passage

In the following passage, there are some highlighted words which may or may not be appropriate to the context of the passage, against each
highlighted word 4 options are suggested. If the word highlighted is incorrect and needs improvement, choose the correct option. But if the given
word is correct and requires no change, mark (5) i.e. no change required as your answer.

Today, we discuss two things which are very important in our life. These are ‘Good manners’ and ‘Leisure’. First, we deal with ‘Good manners’ then ‘Leisure’.
Good manners are sometimes regarded as old-fashioned, something that are now out of date and unnecessary (P). It is true that opening doors for each other,
waiting our turn to be served, often seems to be a thing of the past. And yet when someone treats us well, with respect and good manners, it can make our day.
Good manners provide a moment in time where someone stops and checks (Q) our needs, offers us a seat, asks us politely for something with a 'please' and says
‘thank you' afterwards. These niceties (R) may only take a second, but they are an important second in our busy world of rushing around, solely thinking of
ourselves and what we need to do. Those moments can make us stop and consider the importance of noticing the other person, the waitress, the salesperson. Do
we really need to give off (S) our orders, commands, and demands? How much more pleasant would it be for all concerned if we asked for something politely, with
a'please’ at the end of the request. And acknowledged receipt of it with a smile and a 'thank you'. Hardly earth-shattering, but a more pleasant way of dealing with
people and a better way of treating them. Good manners relate (T) difficult communications, provide a sense of restraint in tense situations and give everyone,
whatever their status or position in life, the right to be treated properly, with respect and consideration. Manners are extremely important.




hi Passage

In the following passage, there are some highlighted words which may or may not be appropriate to the context of the passage, against each
highlighted word 4 options are suggested. If the word highlighted is incorrect and needs improvement, choose the correct option. But if the given
word is correct and requires no change, mark (5) i.e. no change required as your answer.

Today, we discuss two things which are very important in our life. These are ‘Good manners’ and ‘Leisure’. First, we deal with ‘Good manners’ then ‘Leisure’.
Good manners are sometimes regarded as old-fashioned, something that are now out of date and unnecessary (P). It is true that opening doors for each other,
waiting our turn to be served, often seems to be a thing of the past. And yet when someone treats us well, with respect and good manners, it can make our day.
Good manners provide a moment in time where someone stops and checks (Q) our needs, offers us a seat, asks us politely for something with a 'please' and says
‘thank you' afterwards. These niceties (R) may only take a second, but they are an important second in our busy world of rushing around, solely thinking of
ourselves and what we need to do. Those moments can make us stop and consider the importance of noticing the other person, the waitress, the salesperson. Do
we really need to give off (S) our orders, commands, and demands? How much more pleasant would it be for all concerned if we asked for something politely, with
a'please’ at the end of the request. And acknowledged receipt of it with a smile and a 'thank you'. Hardly earth-shattering, but a more pleasant way of dealing with
people and a better way of treating them. Good manners relate (T) difficult communications, provide a sense of restraint in tense situations and give everyone,
whatever their status or position in life, the right to be treated properly, with respect and consideration. Manners are extremely important.

Q-6 Choose the correct options for (P)
eng

01. beneficial 02. clumsy
03. necessary 04. sedulous
05. No correction required

Q-6 Choose the correct options for (P)

01. beneficial 02. clumsy
03. necessary 04. sedulous
05. No correction required
Solution for Question 6 Ans Key: 5
For other options:

Clumsy (adj.)- awkward
Sedulous (adj.)- diligent

For other options:
Clumsy (adj.)- awkward
Sedulous (adj.)- diligent

Q-7 Choose the correct options for (Q)

01. forwards 02. abates
03. considers 04. provides
0S. No correction required

Q-7 Choose the correct options for (Q)

hi
01. forwards 02. abates
03. considers 04. provides
05. No correction required
Solution for Question 7 Ans Key: 3
eng For other options:
Abate (v.)- shorten
hi For other options:

Abate (v.)- shorten

Q-8 Choose the correct options for (R)
eng

01. freebies 02. assignments
03.  environments 04. abutments

05. No correction required



Q-8 Choose the correct options for (R)

hi
01. freebies 02. assignments
03. environments 04. abutments
05. No correction required
Solution for Question 8 Ans Key: 5
eng For other options:
Abutment (n.)- support
Freebies (n): a thing that is provided or given free of charge.
hi For other options:

Abutment (n.)- support
Freebies (n): a thing that is provided or given free of charge.

Q-9 Choose the correct options for (S)

eng
01. givein 02. bark out
03. break out 04. give off
05. No correction required
Q-9 Choose the correct options for (S)
01. givein 02. bark out
03. break out 04. give off
05. No correction required
Solution for Question 9 Ans Key: 2

Bark out (id.)- to say something harshly to someone.

For other options:

Give in (ph.)- surrender

Break out (ph.)- to spread suddenly

Give off (ph..)- to release something, such as smoke, a noise, an odour, fragrance, etc.

Bark out (id.)- to say something harshly to someone.

For other options:

Give in (ph.)- surrender

Break out (ph.)- to spread suddenly

Give off (ph..)- to release something, such as smoke, a noise, an odour, fragrance, etc.

Q-10  Choose the correct options for (T)

01. reiterate 02. aggravate
03. spur 04. facilitate
05. No correction required

Q-10  Choose the correct options for (T)

hi

01. reiterate 02. aggravate

03. spur 04. facilitate

0S. No correction required
Solution for Question 10 Ans Key: 4
eng For other options:

Spur (v.)- Incitement

Aggravate (v.)-make (a problem, injury, or offence) worse or more serious.

Reiterate (V): say something again or a number of times, typically for emphasis or clarity.
hi For other options:

Spur (v.)- Incitement

Aggravate (v.)-make (a problem, injury, or offence) worse or more serious.

Reiterate (V): say something again or a number of times, typically for emphasis or clarity.
Q-11 In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
eng represents the grammatically wrong part of each sentence.

I. The effectiveness of learning and teaching (A) has long been measured by focusing primary (B) on the results of standardised tests.(C)



II. Developing teachers’ skills is (P) arguably of more importance (Q) now with ever before. (R)

01. A-Q 02. BR
03. A-P 04. B-Q
05. AR

In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. The effectiveness of learning and teaching (A) has long been measured by focusing primary (B) on the results of standardised tests.(C)
II. Developing teachers’ skills is (P) arguably of more importance (Q) now with ever before. (R)

01. A-Q 02. B-R

03. A-P 04. B-Q

05. AR
Solution for Question 11 Ans Key: 2
eng In B: “focusing’ is a verb accordingly an adverb is required to qualify it, ‘primarily’ should be used in place of ‘primary’.

In R: in case of comparison with ‘more’, ‘than’ is used, so ‘with’ should be changed into ‘than’.
hi In B: “focusing’ is a verb accordingly an adverb is required to qualify it, ‘primarily’ should be used in place of ‘primary’.

Q-12

Q-12

In R: in case of comparison with ‘more’, ‘than’ is used, so ‘with” should be changed into ‘than’.

In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. Teachers play a crucial (A) role in proper educational system alignment (B) through curriculum building. (C)
II. A focus on the development of (P) teachers will eventual benefit the (Q) ecosystem: institutions, learners and the nation at large. (R)

01. A-Q 02. B-R
03. A-P 04. B-Q
05. A-R

In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. Teachers play a crucial (A) role in proper educational system alignment (B) through curriculum building. (C)
II. A focus on the development of (P) teachers will eventual benefit the (Q) ecosystem: institutions, learners and the nation at large. (R)

01. A-Q 02. B-R
03. A-P 04. B-Q
05. AR
Solution for Question 12 Ans Key: 4

In B: ‘education system’ is the correct compound noun.
In Q: ‘benefit’ is a verb here, to qualify it, an adverb ‘eventually’ should be used.

In B: ‘education system’ is the correct compound noun.
In Q: ‘benefit’ is a verb here, to qualify it, an adverb ‘eventually’ should be used.

Q-13

eng

In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. This unequal division of unpaid work (A) between women and men is unfair and unjust (B) and it deprives women from equal opportunities as men. (C)
II. Payment of pension to old women (P) may be a better idea to compensate (Q) them for her unpaid work. (R)

01. A-Q 02. B-R
03. A-P 04. C-R
05. A-R

In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. This unequal division of unpaid work (A) between women and men is unfair and unjust (B) and it deprives women from equal opportunities as men. (C)
II. Payment of pension to old women (P) may be a better idea to compensate (Q) them for her unpaid work. (R)

01. A-Q 02. B-R



03. A-P 04. CR

05. A-R
Solution for Question 13 Ans Key: 4
eng In C: ‘deprive’ takes the preposition ‘of’, accordingly ‘women of equal’ should be there.

In R: In the sentence we are talking about ‘women’ a plural subject, accordingly ‘her unpaid work’ should be changed into ‘their unpaid work’.

hi In C: ‘deprive’ takes the preposition ‘of’, accordingly ‘women of equal’ should be there.
In R: In the sentence we are talking about ‘women’ a plural subject, accordingly ‘her unpaid work’ should be changed into ‘their unpaid work’.

Q-14 In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
eng represents the grammatically wrong part of each sentence.

I. North Korean diplomats vacated (A) their Embassy in Malaysia and (B) was expelled on Sunday. (C)
I1. You need to be aware about the upfront (P) costs, recurring costs, and taxation when (Q) it comes to investing internationally. (R)

01. A-Q 02. BR
03. C-p 04. B-Q
05. A-R

Q-14 In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
hi represents the grammatically wrong part of each sentence.

I. North Korean diplomats vacated (A) their Embassy in Malaysia and (B) was expelled on Sunday. (C)
II. You need to be aware about the upfront (P) costs, recurring costs, and taxation when (Q) it comes to investing internationally. (R)

01. A-Q 02. B-R
03. C-p 04. B-Q
05. A-R
Solution for Question 14 Ans Key: 3

In C: ‘North Korean diplomats’ is a plural subject, accordingly ‘were expelled” will be correct.
In P: ‘ware’ takes ‘of” with it, so ‘about; should be changed into ‘of’.

In C: ‘North Korean diplomats’ is a plural subject, accordingly ‘were expelled” will be correct.
In P: ‘ware’ takes ‘of” with it, so ‘about; should be changed into ‘of’.

Q-15 In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
represents the grammatically wrong part of each sentence.

I. The knowledge-based economy or knowledge (A) economy is a system of consumption and (B) production that are based on intellectual capital. (C)
II. To move out from the middle-income (P) zone we need to be a (Q) innovation-based economy. (R)

01. A-Q 02. B-R
03. A-P 04. C-Q
05. A-R

Q-15 In the following question, two sentences divided into three parts are given. Read the sentences carefully and choose the option which
hi represents the grammatically wrong part of each sentence.

I. The knowledge-based economy or knowledge (A) economy is a system of consumption and (B) production that are based on intellectual capital. (C)
II. To move out from the middle-income (P) zone we need to be a (Q) innovation-based economy. (R)

01. A-Q 02. B-R

03. A-P 04. C-Q

05. A-R
Solution for Question 15 Ans Key: 4
eng In C: according to ‘system’ which is a singular noun, ‘that is based” should be used.

In Q: innovation is the word which starts with vowel sound, so ‘a’ should be changed into ‘an’ before innovation.

hi In C: according to ‘system’ which is a singular noun, ‘that is based” should be used.
In Q: innovation is the word which starts with vowel sound, so ‘a’ should be changed into ‘an’ before innovation.

Q-16 In the following question, choose the word which is most nearly the SAME in meaning to the word.

eng
MANTLE



01. Celestial 02. Essence
03. Salient 04. Redolence

05. Cloak
In the following question, choose the word which is most nearly the SAME in meaning to the word.

MANTLE

01. Celestial 02. Essence
03. Salient 04. Redolence
05. Cloak

Solution for Question 16 Ans Key: 5

eng

Mantle (n): a loose sleeveless cloak or shawl, worn especially by women.
For other options:

Celestial (adj.)- heavenly

Redolence (n.)- fragrance

Mantle (n): a loose sleeveless cloak or shawl, worn especially by women.
For other options:

Celestial (adj.)- heavenly

Redolence (n.)- fragrance

Q-17

Q-17

In the following question, choose the word which is most nearly the SAME in meaning to the word.

INNER SANCTUM

01. A private place 02. Graveyard
03. A crowded place 04. Garden
05. Symmetry

In the following question, choose the word which is most nearly the SAME in meaning to the word.

INNER SANCTUM

01. A private place 02. Graveyard
03. A crowded place 04. Garden
05. Symmetry

Solution for Question 17 Ans Key: 1

no

Inner sanctum (n.)- a private place
For other options:
Symmetry (n.)- proportion

Inner sanctum (n.)- a private place
For other options:
Symmetry (n.)- proportion

Q-18

eng

In the following question, choose the word which is most nearly the SAME in meaning to the word.

AXIOMATIC

01. Abundant 02. Underestimated
03. Questionable 04. Absolute

05.  Uncertain
In the following question, choose the word which is most nearly the SAME in meaning to the word.

AXIOMATIC

01. Abundant 02. Underestimated
03. Questionable 04.  Absolute
05. Uncertain

Solution for Question 18 Ans Key: 4

eng

For other options:
Underestimate (v.)- minimize




Q-19

eng

For other options:
Underestimate (v.)- minimize

In the following question, choose the word which is most nearly the OPPOSITE in meaning to the word.

DISENCHANTED

01. Lackadaisical 02. Integrity
03. Tiaison 04. Delighted
05. Furious

In the following question, choose the word which is most nearly the OPPOSITE in meaning to the word.

DISENCHANTED

01. TLackadaisical 02. Integrity
03. Liaison 04. Delighted
05. Furious

Solution for Question 19

eng

Q-20

Q-20

Disenchanted (adj): disappointed by someone or something previously respected or admired; disillusioned.
For other options:

Lackadaisical (adj.)- careless

Liaison (n.)- the person who acts as a go-between

Furious (adj.)- extremely angry

Integrity (n): the state of being whole and undivided.

Disenchanted (adj): disappointed by someone or something previously respected or admired; disillusioned.
For other options:

Lackadaisical (adj.)- careless

Liaison (n.)- the person who acts as a go-between

Furious (adj.)- extremely angry

Integrity (n): the state of being whole and undivided.

In the following question, choose the word which is most nearly the OPPOSITE in meaning to the word.

INDISPENSABLE

01. Prerequisite 02. Imperative
03. Tronical 04. Auxiliary
05. Crucial

In the following question, choose the word which is most nearly the OPPOSITE in meaning to the word.

INDISPENSABLE

01. Prerequisite 02. Imperative
03.  Ironical 04.  Auxiliary
05. Crucial

Solution for Question 20

eng

Q-21

eng

Indispensable (adj): absolutely necessary.

Auxiliary (adj): providing supplementary or additional help and support.

For other options:

Prerequisite (n): a thing that is required as a prior condition for something else to happen or exist.
Tronical (adj): pertaining to, of the nature of, exhibiting, or characterized by irony or mockery.
Imperative (adj): of vital importance; crucial.

Indispensable (adj): absolutely necessary.

Auxiliary (adj): providing supplementary or additional help and support.

For other options:

Prerequisite (n): a thing that is required as a prior condition for something else to happen or exist.
Ironical (adj): pertaining to, of the nature of, exhibiting, or characterized by irony or mockery.
Imperative (adj): of vital importance; crucial.

Ans Key: 4

Ans Key: 4

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully

and find out the odd one part.



India earns approximately 15 lakh (A)/ crore rupees annually in the tourism sector (B)/ which seems to be growing rapidly (C)/ with more and more people
becoming (D)/ more educated and smart due to new education policy.(E)

01. Part A 02. PartB
03. PartC 04. PartD
05. PartE

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

India earns approximately 15 lakh (A)/ crore rupees annually in the tourism sector (B)/ which seems to be growing rapidly (C)/ with more and more people
becoming (D)/ more educated and smart due to new education policy.(E)

01. PartA 02. PartB
03. PartC 04. PartD
05. PartE
Solution for Question 21 Ans Key: 5
eng All the parts except E, is related to Tourism and its potential growth, but E part is talking something about education policy, it seems to be illogical that if
people become educated, it will grow the earning through tourism.
hi All the parts except E, is related to Tourism and its potential growth, but E part is talking something about education policy, it seems to be illogical that if

Q-22

people become educated, it will grow the earning through tourism.

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

All the ATM machines across (A)/ the length and breadth of the (B)/ new generation are making low investment (C)/ to accommodate the (D)/ new
dimension of new currency notes. (E)

01. Part A 02. PartB
03. PartC 04. PartD
05. PartE
Q-22 In the following question, a sentence divided into S parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.
All the ATM machines across (A)/ the length and breadth of the (B)/ new generation are making low investment (C)/ to accommodate the (D)/ new
dimension of new currency notes. (E)
01. Part A 02. PartB
03. PartC 04. PartD
05. PartE
Solution for Question 22 Ans Key: 3
eng It we understand the initial part, it is very clear that part C is out of the context as if we connect it will become ‘All the ATM machines are making low
investment’ which does not have any sense as how ATM machines ( non-living entity) can make investment or any action.
hi If we understand the initial part, it is very clear that part C is out of the context as if we connect it will become ‘All the ATM machines are making low

Q-23

eng

investment’ which does not have any sense as how ATM machines ( non-living entity) can make investment or any action.

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

Encouraging work from home facilities & part-time (A)/ jobs can enable many rural women to take up jobs, (B)/ who are otherwise could not work (C)/
due to lack of efficient government schemes and budget, (D)/ household responsibilities & childcare etc. (E)

01. Part A 02. PartB
03. PartC 04. PartD
05. PartE

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

Encouraging work from home facilities & part-time (A)/ jobs can enable many rural women to take up jobs, (B)/ who are otherwise could not work (C)/
due to lack of efficient government schemes and budget, (D)/ household responsibilities & childcare etc. (E)



01. Part A 02. PartB

03. PartC 04. PartD
0S. PartE
Solution for Question 23 Ans Key: 4
eng This sentence is talking about the benefit of work from home for women. In part D something is given about the lack of government schemes and budget,
how can a woman can’t work because of the lack of government schemes and budget, it seems completely senseless.
hi This sentence is talking about the benefit of work from home for women. In part D something is given about the lack of government schemes and budget,

how can a woman can’t work because of the lack of government schemes and budget, it seems completely senseless.

Q-24

eng

Q-24

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

WTO is a good platform to solve trade (A)/ disputes peacefully and rationally. (B)/ Its existence prevented trade wars till now and made (C)/ healthcare
industry accessible to each and every citizen. (D)/ It’ rules cover most of the international trade. (E)

01. Part A 02. PartB
03. PartC 04. PartD
05. PartE

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

WTO is a good platform to solve trade (A)/ disputes peacefully and rationally. (B)/ Its existence prevented trade wars till now and made (C)/ healthcare
industry accessible to each and every citizen. (D)/ It’ rules cover most of the international trade. (E)

01. PartA 02. PartB
03. PartC 04. PartD
0S. PartE
Solution for Question 24 Ans Key: 4

Q-25

WTO refers to World trade organization, which is related to trade and business, in part D, ‘healthcare’ is mentioned which makes the part out of the
context.
WTO can’t make the healthcare industry accessible to anyone.

WTO refers to World trade organization, which is related to trade and business, in part D, ‘healthcare’ is mentioned which makes the part out of the
context.
WTO can’t make the healthcare industry accessible to anyone.

In the following question, a sentence divided into S parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

At present most of the educational institutions run from one (A)/ to another person go through financial institutions (B)/ such as banks. (C)/ The invention of
cryptocurrency allowed user to user (D)/ transactions without the need of intermediary institutions. (E)

01. Part A 02. PartB
03. PartC 04. PartD
05. PartE

In the following question, a sentence divided into 5 parts is given, one of the parts is not contextually appropriate. Read the parts carefully
and find out the odd one part.

At present most of the educational institutions run from one (A)/ to another person go through financial institutions (B)/ such as banks. (C)/ The invention of
cryptocurrency allowed user to user (D)/ transactions without the need of intermediary institutions. (E)

01. Part A 02. PartB

03. PartC 04. PartD

0S. PartE
Solution for Question 25 Ans Key: 4
eng Except part A, all other parts are related to finance and cryptocurreny, accordingly part A can be considered out of the context.
hi Except part A, all other parts are related to finance and cryptocurreny, accordingly part A can be considered out of the context.

Q-26

eng

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free
from grammatical error.



01. The reality is only 20 percent of today’s
affluenced feel like they’re getting excellent
service from their financial advisor.

03. The reality is only 20 percent of today’s
affluenced feel like they’re getting excellent
service from his financial advisor.

0S. The reality is only 20 percent of today’s
affluent feels like they’re getting excellent
service from one’s financial advisor.

02.

04.

The reality is only 20 percent of today’s affluent feels like they’re getting excellent service from their
financial advisor.

The reality is only 20 percent of today’s affluent feel like they’re getting excellent service from their
financial advisor.

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free

from grammatical error.

01. The reality is only 20 percent of today’s
affluenced feel like they’re getting excellent
service from their financial advisor.

03. The reality is only 20 percent of today’s
affluenced feel like they’re getting excellent
service from his financial advisor.

05. The reality is only 20 percent of today’s
affluent feels like they’re getting excellent
service from one’s financial advisor.

Solution for Question 26

Q-27

Q-27

02.

04.

The reality is only 20 percent of today’s affluent feels like they’re getting excellent service from their
financial advisor.

The reality is only 20 percent of today’s affluent feel like they’re getting excellent service from their
financial advisor.

Ans Key: 4

The reality is only 20 percent of today’s affluent (affluent is the correct adjective) feel (affluent is representing the whole class means
plural, accordingly plural verb is correct) like they’re getting excellent service from their (according to ‘they’) financial advisor.

The reality is only 20 percent of today’s affluent (affluent is the correct adjective) feel (affluent is representing the whole class means
plural, accordingly plural verb is correct) like they’re getting excellent service from their (according to ‘they’) financial advisor.

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free

from grammatical error.

01. Ifyou want honest and useful feedback
from your affluent clients, you need to
handle this issue personally.

03. Ifyou want honest and useful feedback
from your affluent clients, you need to
handle this issue personally.

05. Ifyou want honest and useful feedback
from your affluent clients, you need to
handle this issue with personally.

02.

04.

If you want honesty and useful feedback with your affluent clients, you need to be handle this issues
personally.

If you want honesty and useful feedback into your affluent clients, you needed to handle this issue
personally.

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free

from grammatical error.

01. Ifyou want honest and useful feedback
from your affluent clients, you need to
handle this issue personally.

03. Ifyou want honest and useful feedback
from your affluent clients, you need to
handle this issue personally.

05. If you want honest and useful feedback
from your affluent clients, you need to
handle this issue with personally.

Solution for Question 27

02.

04.

If you want honesty and useful feedback with your affluent clients, you need to be handle this issues
personally.

If you want honesty and useful feedback into your affluent clients, you needed to handle this issue
personally.

Ans Key: 1

eng If you want honest (for the noun ‘feedback’ an adjective is required) and useful feedback from (we take feedback from someone) your
affluent clients, you need to handle (to + v1 is the correct structure) this issue (‘this’ takes a singular noun) personally.
hi If you want honest (for the noun ‘feedback’ an adjective is required) and useful feedback from (we take feedback from someone) your

affluent clients, you need to handle (to + v1 is the correct structure) this issue (‘this’ takes a singular noun) personally.

Q-28

eng

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free

from grammatical error.



01. Having been separate accounts can be 02. Having separate accounts can be a practical way to sharing financial responsibilities while
practical way to share financial maintaining individual freedoms.
responsibilities while maintaining individual
freedoms.
03. Having separate accounts can be a practical 04. Having been separate accounts can be the practical way to share financial responsibilities for while
way to share financial responsibilities while maintaining individual freedoms.
maintaining individual freedoms.
05. Having separate account can be a practical
way to sharing financial responsibilities while
maintaining individual freedoms.
In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free
from grammatical error.

01. Having been separate accounts can be 02. Having separate accounts can be a practical way to sharing financial responsibilities while
practical way to share financial maintaining individual freedoms.
responsibilities while maintaining individual
freedoms.

03. Having separate accounts can be a practical 04. Having been separate accounts can be the practical way to share financial responsibilities for while
way to share financial responsibilities while maintaining individual freedoms.
maintaining individual freedoms.
05. Having separate account can be a practical
way to sharing financial responsibilities while
maintaining individual freedoms.

Solution for Question 28 Ans Key: 3

Q-29

Q-29

Having (it is a gerund form) separate accounts (separate is followed by a plural noun) can be a (article is required for the countable noun
‘way’) practical way to share financial responsibilities while maintaining individual freedom:s.

Having (it is a gerund form) separate accounts (separate is followed by a plural noun) can be a (article is required for the countable noun
‘way’) practical way to share financial responsibilities while maintaining individual freedom:s.

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free
from grammatical error.

01. Investmental fraud preys on financial 02. Investment fraud preys on financial ignorance, and the antidote to ignorance is education.
ignorance, and the antidote to ignore is
education.

03. Investment fraud preys on financially 04. Investmental fraud preys on financial ignorance, and the antidote to ignore is education.
ignorance, and the antidote to ignorance is
education.

0S. Investment fraud preys on financially

ignorance, and the antidote to ignorance is

education.
In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free
from grammatical error.

01. Investmental fraud preys on financial 02. Investment fraud preys on financial ignorance, and the antidote to ignorance is education.
ignorance, and the antidote to ignore is
education.

03. Investment fraud preys on financially 04. TInvestmental fraud preys on financial ignorance, and the antidote to ignore is education.
ignorance, and the antidote to ignorance is
education.

05. Investment fraud preys on financially
ignorance, and the antidote to ignorance is

education.
Solution for Question 29 Ans Key: 2
eng Investment fraud (it is a term) preys on financial (adjective is required to qualify the noun) ignorance, and the antidote to ignorance is education.
hi Investment fraud (it is a term) preys on financial (adjective is required to qualify the noun) ignorance, and the antidote to ignorance is education.

Q-30

eng

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free
from grammatical error.

01. The skills you develop as a debater will be 02. The skills you developed as a debater will help you on everything with a college admissions



help you on everything from a college interview to a job presentation.

admissions interview to an job presentation.

03. The skills you developed as a debater will  04. The skills you develop as a debater will be help you on everything with a college admissions

help you on everything from a college interview to an job presentation.

admissions interview to a job presentation.

05. The skills you develop as a debater will help
you on everything from a college admissions
interview to a job presentation.

In the following question, a sentence is written five times with slight changes, read all the sentences carefully and choose the sentence free

from grammatical error.

01. The skills you develop as a debater will be  02. The skills you developed as a debater will help you on everything with a college admissions

help you on everything from a college interview to a job presentation.

admissions interview to an job presentation.

03. The skills you developed as a debater will  04. The skills you develop as a debater will be help you on everything with a college admissions

help you on everything from a college interview to an job presentation.

admissions interview to a job presentation.

0S. The skills you develop as a debater will help
you on everything from a college admissions
interview to a job presentation.

Solution for Question 30

Q-31

Q-31

Ans Key: 5

If we check according to the rules of Grammar, Option 5 “The skills you develop as a debater will help you on everything from a college admissions

interview to a job presentation” is correct

If we check according to the rules of Grammar, Option 5 “The skills you develop as a debater will help you on everything from a college admissions

interview to a job presentation” is correct

What will come in place of the question mark (?) in the following number series ?

42, 20, 9, 3.5, ?
01. 75 02. 0.75
03. 66.7 04. 67.75

05. None of these
et wwear et § Terf=es (?) & T 9T 49T ST 2

42, 20, 9, 35, ?

01. 75 02. 0.75
03. 66.7 04. 67.75
05. =98 | FIE ALl
Solution for Question 31 Ans Key: 2
2..; 20.., 9., 35,
B 425 05, B BB
Q-32 What will come in place of the question mark (?) in the following number series?
eng
12 20 36 61 ? 142
01. 92 02. 94
03. 96 04. 98
05. None of these
Q-32 [Awfaiad S ST § ware =g () F T 9 F#47 SA39w 2
hi
12 20 3661 ? 142
01. 92 02. 94
03. 96 04. 98
05. =H ¥ IS 75T
Solution for Question 32 Ans Key: 3



eng

12 20 36 61 [96] 142

s

|
+8 +9  +10 +11

- 20 36 61 |o6] 142

? il

I | IR | E—
£ T e
+8  +9 +10 +11

Q-33 What will come in place of the question mark (?) in the following number series?
eng

84 92 101 165 190 ?

01. 401 02. 406

03. 410 04. 411

05. None of these
Q-33 Fwfaiad S S@ar § WA =g () F T 9 F47 SA39 2
hi

84 92 101 165 190 ?

01. 401 02. 406
03. 410 04. 411
05. = HAE T

Solution for Question 33

Q-34

Q-34

84 92 101 165 1ﬁo@l
| T T

+Z +3F +4° +5 46°

84 92 101 165 1ﬁo@l
L I 1N

+2 4 F +4° +5  +6°

What should come at place of question mark (?) in the following question?

16 24 48 120 360 1260 ?

01. 2015 02. 4088
03. 5040 04. 5127

05. 5225
et st ® seram=a (52T (2) % #2199 T A1 A1 0?2

16 24 48 120 360 1260 ?

01. 2015 02. 4088
03. 5040 04. 5127
05. 5225

Solution for Question 34

Ans Key: 2

Ans Key: 3

eng

16x1.5=24
24x2=48
48x25=120
1203 =360
360x3.5=1260
12604 =5040

16x135=24
242 =48
48x2.5=120
1203 =360
360x3.5=1260
1260:4 =5040

Q-35

What value will come at place of question mark (?) in the following number series?



eng

? 7800 1560 390 130 65

01. 47120 02. 49900

03. 46800 04. 48350

05. None of these

et deaT gaer § wrar=s =g (?) F T4 92 797 719 A0 2

? 7800 1560 390 130 65

01. 47120 02. 49900
03. 46800 04. 48350
05. =a# FHIE Tol

Solution for Question 35

Ans Key: 3

eng

65x2=130

130 x 3 =390
390 x 4 =1560
1560 x 5 = 7800
7800 x 6 = 46800

Q-36

Q-36

65x2 =130

130 x 3 =390
390 x4 =1560
1560 x 5=7800
7800 x 6 = 46800

What approximate value will come at place of question mark (?) in the following question?

(47 % 562.58) + (23 x 112.23) =2

01. 17 02. 10
03. 18 04. 21

05. 12
FRrerfertad w1 § Tert=re (2) 3 I UL ST 747 H19 S0

(47 x 562.58) + (23 x 112.23) = ?

01. 17 02. 10
03. 18 04. 21
05. 12

Solution for Question 36

cug

9=47x "% x 112

Ans Key: 2

23
_ 26461
2576
=10.
B 2=47x 28 x 112
23
_ 26461
2576
= 10.
Q-37 What approximate value will come at place of question mark (?) in the following question?
eng
24% of 650 - 7% of 123.68 = 78.2
01. 75 02. 60
03. 838 04. 63
05. 82
Q-37  TAwferfera wor & weaf=ra (?) % T 02 ST 7 | ATIT2
hi

650 T 24% - 123.68 =T 7% = 78.2



01. 75 02. 60
03. 88 04. 63
05. 82
Solution for Question 37 Ans Key: 4
eng 24% of 650 — 2% 123.68 = 78.2
24 ><—650 —Px 124 =78
100 100
156—-78=" A%
100
o M
=
100
2= 785190 _62.00
124
=63.
hi 24% of 650 — 2% 123.68 = 78.2
24 ><—650 —x 124 =78
100 100
156—-78=" 1%
100
w124 _gg
100
?= 78190 6200
124
=63.
Q-38 What approximate value will come at place of question mark (?) in the following question?
(34.9)%7 + V2 =217.02
01. 1765 02. 1681
03. 1742 04. 1849
05. 1723
Q-38  fAwferfra wor & werferest () % 29 9 ST 397 |19 SATuT?
(34.9)%+7 +2=217.02
01. 1765 02. 1681
03. 1742 04. 1849
0S. 1723
Solution for Question 38 Ans Key: 1
7=42x42=1764~1765
\Jr =217.0 —JDA—-:—;A —lf3=4L
7=42x42=1764~1765
Q-39  What approximate value will come at place of question mark (?) in the following question?
eng
32.69% of 3394.69 + 12.68% of 169.78 =? — 623.68
01. 1680 02. 1750
03. 1720 04. 1580
05. 1770
Q-39 wfafed w1 § wfed (2) F ST 9% T F97 71T SA0r?
hi
3394.69 FT 32.69% + 169.78 T 12.68% =? — 623.68
01. 1680 02. 1750
03. 1720 04. 1580
05. 1770
Solution for Question 39 Ans Key: 5

eng ?—623.68 =33% of 3400 + 13% of 170



=33 %2 HI3 X

100 100

7=1144.1 + 623.68 = 1144 + 624
=1768
=1770

?— 623.68 = 33% of 3400 + 13% of 170
=33 x 340 4 93170

100 100

7=1144.1 + 623.68 = 1144 + 624
=1768
=1770

Q-40

eng

What approximate value will come in place of question mark (?) in the following questions?

(719.70 — 238.90) x 8.45=?

01.
03.
05.

4062.76
4283.74
4505.75

02. 4172.86
04. 4343.76

forT o ot o weraT=reR e (2) 3 B 9 T 9 A0 2

(719.70 — 238.90) x 8.45=?

01.
03.
05.

4062.76
4283.74
4505.75

Solution for Question 40

Q-41

?=4062.76

?=4062.76

02. 4172.86
04. 4343.76

Ans Key: 1

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
answering the question ?

Is Prateek older than Rahul?

Leela is 4 years elder than Prateek and 2 years younger than Rahul.

II. The average age of Prateek and Rahul is 17 years.

01.

If statement I alone is sufficient but
statement II alone is not sufficient.

If each statement alone (either I or II) is
sufficient.

. Ifboth statements I and II together are

sufficient, but neither statement aione is
sufficient.

02. Ifstatement II alone is sufficient but statement I alone is not sufficient.

04. If statement I and II together are not sufficient.

= F30 T et | T FAAT AT F R AT 4T TS 8 ATl 78 o7 52t & T3 77 ot § & T Tl ST 3 & forg 977y 62

FT AT g | 92T 872
I ST I 7 4 99 FS7 2 ST Tga H 2 9 el &l
I1. ST ST TTg e &0 3freq o 17 a9 &

01.

03.
05.

Tt et I [ £ TATH § AR el
FAF [ TATH T2 &

T2 AT A FAF [ AT Fa [1TAH 5

T FE1 FAF 1T 11 TF 979 1 ©

Solution for Question 41

02. 7f Faer w11 21 7T § Al Fael Fo 1 0aTd 781 8

04. 7fg FoT [T I IT ATATH G

Ans Key: 1

eng

From statement (I) and (IT),
L=P-4=R-2

P+tR — |7
2
P-R=2
P+R =34

P =18 years



R =16 years

Fe (1) 3 (1) 7
L=P-4=R-2
P+R _

% 17

P-R=2
P+R =34
P=184%
R=16a%

Q-42

eng

Q-42

The question given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the question ? Mark answer -

What is the length of the train?
(@) Itcrosses a pole in 20 seconds
(ID) Speed of the train is 20 m/s.

01. Ifstatement I alone is sufficient but
statement II alone is not sufficient.

02. If statement II alone is sufficient but statement I alone is not sufficient.

03. Ifboth statement together are sufficient, but 04. If each statement alone (either I or II) is sufficient.

neither statement alone is sufficient.

0S. If statement I and II together are not
sufficient.

A= o 0 et | JTFAAT F AT F R/ STARIAT &1 TS 3 3Tl g Hor 71 ¢ T 747 Foer § & T AT 397 & & fol7 aaie 82

JTL @ 3 ])—

(1) TSN GET AT 20 HHUE § I FdAT B
() TERTET 7 =7 20 T B

01. fx Fger Fa7 [ &7 TITH & AT daet
F 11 TFTH T81 &

03. Ffz T Fo9 [T 11 TF a1 9419 &
RIEGIEE U EUR L ‘_‘1—2('3[%

05. FfT T 1T T ATITH S

Solution for Question 42

From (I)

t=20 sec

From (II)

V=20m/s

length =20 % 20 =400 m

D=,

t=20 9%

D&

V =20 YTeX /A%

TS =20 x 20 = 400 ¥

02. =f3 Faer FAF 11 &7 TATH ¢ AT Fael AT [T Tal &

04. 1f2 77 Faer o 1 AT Fet [ TATH 2

Ans Key: 3

Q-43

eng

The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for

answering the question ?

The total marks got by A, B, C and D in Science is 200. What is the A's marks?
I. A got one-third of the total marks got the B, C and D.
II. The average marks got by B and C is more than D by 10.

01. Ifstatement I alone is sufficient but
statement II alone is not sufficient.

03. If each statement alone (either I or II) is
sufficient.

0S. Ifboth statements I and II together are
sufficient, but neither statement alone is
sufficient.

02. Ifstatement II alone is sufficient but statement I alone is not sufficient.

04. If statement I and II together are not sufficient.

A= o 0 et | JTFAAT K WA F F/g TARITT &1 TS 3 3Th! g Hor 3T ¢ T 797 Foer § & T Sl 39 & & folT aaie 82

A, B, C 3% D 3T fasi= & 9TH %1 3% 200 81 A FTT TTH i #7182
I. AT B, C T D gT7 9TH R i 7 UH-fAgrs a1 gaml



I1. B 31T C g7 9T #ir&ra 3= D g1 976 @ihi & 10 2 1

01. =f Fae F97 [ &1 TATH & AT A

o 11 978 T8 &

03. f A7 FFe FAF [ AT FaA [[ TAH S

05. rfe et o 1 F 11 T 97 9479 &

Solution for Question 43

02. 7f3 Fae F9 11 & 74T § AT Faet Fa7 | 7478 781

04. =f3 Fore [ [ T S0 &

Ans Key: 1

eng From statement (I) and (1),
A= % (B+C+D)
A+B+C+D =200
A =50
hi e (1) ST (1) 7,
A= % (B+C+D)
A+B+C+D =200
A =50
Q-44 The questions given below contain two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question ?
What is the number of boys in a school?
I. If number of boys is X, the number of girls is X% of total number of students.
II. The sum of number of boys and girls is 300.
01. Ifstatement I alone is sufficient but 02. Ifstatement II alone is sufficient but statement I alone is not sufficient.
statement II alone is not sufficient.
03. Ifeach statement alone (either Ior IT)is ~ 04. Ifstatement I and II together are not sufficient.
sufficient.
05. Ifboth statements I and II together are
sufficient, but neither statement alone is
sufficient.
Q-44 T U 0 FoAT H JTFAAT F AIEAH KR, SATARTLAT & TS & A1 Tg (0 F7A7 g 76 F47 FIA71 § & T AT 39 & o (o0 977 82

TF T H A=A AT HEAT T2

1. 7S =T 6T AT x & AT ASTRIT 0T AT FHo =i it T3 1 x% 2l
11 ¥ § T=h S ASTRAT =T |&AT A1 T 300 2

01. IfE Fger FI7 1 S TITH & A0 Fae

FA [ TTH T30 2

03. Ff =T Fae FAT [ AT Fal 11 T8 &
05. Ifz 1 Fod [ 7 11 UTF 9 9479 &

02. 7T Faer FIT 11 2T TATT € AT Faol F99 [ TITH 981 2

04. =fF Fu= 19 11 3T ATATH &

Solution for Question 44 Ans Key: 5
eng From statement (I) and (1I),

B+G =300

X _

x+300x 100 300

x=75
hi FA (1) 3T (1) &,

B+G =300

x+300x 58 =300

x=75
Q-45 The question given below contains two statements giving certain data. You have to decide whether the data given in the statements are sufficient for
eng answering the question? Mark answer-

Find the number of Rs 10 and Rs 20 notes.

(T) The ratio of the number of notes of Rs. 10 to the number of notes of Rs. 20 is 1 : 4

(ID) The total amount is Rs. 600 and there is no other type of note except Rs. 10 and Rs. 20 note.

01. Onlyl

02. OnlyIl



03. Tand II together
05. None of these

04. T and II together are not sufficient

Q-45 w vy g it & AT A FAT RO AT ) S 07 FAr ¢ 5 XU au wuat § & w9 9 Fwua 399 9 F oo w3ty 282 3w afer-
10 TIT T 20 TIT F A FT HEAT AT hiTord?

(1) =T 10 FIT TAT 20 T % Al T ATATT 1 : 4 2

(1) == FH 600 TIT T Fiad H Fae 10 FTT AT 20 T F A€ gl [T TTE |

01. FaeTl 02. F=aer Il

03. & I &t 04. 1T 11 41 oo Te A5 §

05. =8 4 FIE A21
Solution for Question 45 Ans Key: 3
eng I and II together
hi 1 T 11 &1

7 Passage for Question 46, 47, 48, 49, 50 (ST-125 MATHS 2019 DI-3)

eng Passage

Refer the table and answer the questions given below-

Data related to number of voters and ratings in two villages(X and Y for 5 different political parties.

Political party | Village X Village Y

Number of ng | Number of

oters voters
A _ 36 - 77
B 20 732 180 %
C 24 - 08 y
D B 56 I 84
E 20 42.75 20 42

Note:

(T) Few data are missing (indicated by—). You need to calculate the value based on given data, if required, to answer a given question.
(1) Total ratings obtained = Number of voters x average ratings obtained

hi Passage

IO FTHETIT FE AT TT T F ST

HAARTATSAT T EHAT | AT A T I Al § LT (T 3T A1) 5 fafosr aerifas et % form,
AT (X 3T Y) § 5 fafsrar Troriifae =il 3 Aaararst it gt o i § giweg = fRw g

RERICC R C 5 MaY
T H TSN | TW G {2 | S0 S EET | 9 S 12T
A - 56 B 77
B 120 72 180 .
C 84 - 108 D
D . 56 = 84
E 230 42.75 o0 42

TOTHT A T ATT9THRAT B |

Tre: (1) T/ TERRAT F § (-- T ER0) | &7 T0 337 7 3L 39 o o0 ATl U T0 it 6 e 9% 91 6
(1) T ST TS = AAQTATS il FE&AT X 3FEd LT I




Q-46

For political party D, the sum of ratings obtained from village X and that from village Y are equal. The respective ratio of the number of voters in village Y

eng and village Z is 4 : 5. The number of voters in village X is what percent more than the number of voters in village Z?
01. 20% 02. 15%
03. 25% 04. 10%
05. None of these
Q-46 TSt ATl D forw, Tt X q1 T Y & AT 7 T a6 & | T Y AT Z H HAGTATA 0T HeAT AT A6 AT 4:5 8. T X F qaarera
hi Y Tt e ZH waeTarst St geat ¥ fhady wiaaa sifeer g2
01. 20% 02. 15%
03. 25% 04. 10%
05. =it it 478
Solution for Question 46 Ans Key: 1
eng X x56 =y x84
xly = 84/56 — 3/2
xy:z =645
Required % = (1/5)x100 =20%
X*x56=y x84
xly = 84/56 — 3/2
X1y:z=6:4:5
4= % = (1/5)x100 =20%
Q-47 For political party B, the average ratings obtained from village Y is 10% less than that obtained from village X. Total ratings obtained from village Y is what
percent more than that obtained from village X?
01. 35% 02. 32%
03. 30% 04. 40%
05. None of these
Q-47  TSIITae ATET B % oW, STie Y & 9T ST YT A X H 9T AT qAAT H 10% FH | WY H ATH Fo LT AT X F TTH HA LT 7 AT &
e fcrerar erferes 22
01. 35% 02. 32%
03. 30% 04. 40%
05. =T FFHIE T2
Solution for Question 47 Ans Key: 1
cng Let the average ratings obtained from village x = 100
The average ratings obtained from village y =90
Required % = 180x90 — 120x100 /120x100 = 35%
hi HTAT T X H ITH S T = 100
T y | T e e = 90
T % = 180x90 — 120%100 /120%x100 = 35%
Q-48 For political party E, the average ratings given by male voters in villages X and Y are equal and that by female voters in the two villages are equal. If the
eng respective ratio of male and female in village X is 5 : 3 and that in village Y is 2 : 1, what is the average ratings given by male voters of village X?
01. 28 02. 32
03. 36 04. 30
05. None of these
Q-48  TSTITAe Wl B o7, i X T Y § [&0 Searareti gren &1 T e T a2 € AT gl Mt § Figelt qa=rara g7 67 ave=< g | a2
hi T X H & ¥ AIZAT A7 HHF AT 5:3 & ¥ ag M Y § 2:1 € A7 T X F T2 TAGTATSA G <X TS S 11T 3097 82

01. 28 02. 32
03. 36 04. 30

05. =8 A FIs A8l



Solution for Question 48 Ans Key: 3

eng

Q-49

Q-49

Total ratings given by both male and female voters in village x = 80 x 42.75 = 3420
Total ratings given by both male and female voters in village y = 90 x 42 = 3780
Difference = 360 — 10 males

Average ratings given by male voters of village X = 36

3420 3780
36x50=1800 36x60=2160
54x30=1620 54x30=1620

T X | T2 TAT ATZAT AARTATAT FIT &F TAT F/eT 11 = 80 x 42.75 = 3420
T y § &0 TAT AIGAT AAGTArsi 1T &f T FHa 1T = 90 x 42 = 3780
7= 360 — 10 &7

T X § qEOT G & T &{&q 1T = 36

3420 3780
36:x50=1800 36x60=2160
54x30=1620 54=30=1620

Combining village X and village Y, the average ratings obtained for political party A is 58. The number of voters in village Y is what ratio of the number of
voters in village X?

01. 19:2 02. 3:16

03. 16:3 04. 2:19

05. None of these

Tt X ST Y FT Ferene, TTefass e A o or o T 58 8 1 W Y H Aqarerer 1 HeAr T X F Aqararen A1 @t F i fra

01. 19:2 02. 3:16
03. 16:3 04. 2:19
05. =za9 T FI T2T

Solution for Question 49 Ans Key: 4

Q-50

eng

Combined average ratings = 58
56 77

58
19 : 2

HIH ArEd LT = 58
560 i

58
19 : 2

For political party C, the respective ratio of the sum of ratings from village X and that from village Y is 7 : 3. If the average rating for party C in vilage X is
equal to the party B, then what will be the the average ratings obtained for political party C from village Y,?

01. 22 02. 26
03. 24 04. 25
05. 28

Trretash aTEt C 3 form, it X | et T Y 7 TR0 97 T Y F et T F TR0 FHT JAqa1d 7:3 § | T Y F TTritass aret C % foro yme s
T A7 ERIT A% C % form 1fg X & i AT B 9919 § 2

01. 22 02. 26
03. 24 04. 25
05. 28

Solution for Question 50 Ans Key: 3



eng Let the average ratings for Party C = x
84 x72/108 x x=7/3
x=84x72x3/108x7
X =24

hi AT 9Tt C i e 3T = x
84 x72/108 x x=7/3
XxX=84x72x3/108 x7
X =24

Passage for Question 51, 52, 53, 54, 55 (ST-2002CRPBCLMAINS(131-135M)2020)
eng Passage

Study the instructions given for missing table DI carefully and answer the questions given below:

Workers Efficiency No. of days worked | Percentage of worked done
A+B 12 40%
B+C | 160%of (A+D) | = ----eeememeeeees 10%
A+D | 125%0f (C+E) |  —ermmreemeeeeeeen 37.5%
C+E 5% 0f (B+E) | --emememmeeeen 459,
(1 T [ 5 50%
hi Passage

ST ITA & (A FIT AT AT FT AL Te7TT L HTAH FTTATTAT H IR

- 12 40%

B+C L 0 ) T 0 O —— 30%

A+D | ([CH+E)FT125% |  ceemcememmmmemes 37.5%

Bz B (R S L T I — 45%

B+E | --erreiommeciceaoen 5 50%

Q-51 Find in how many days workers A, B and C together can complete the whole work?

0T 02 1
03. 1 04

05. None of these
Q-51  Tar & % A, B 3T C U A1 foha faei § 7 T T FT T 82

01. 1 02. 1
28— 18—
13 13
03. 1 04. _1
13 13
05. =i & FE A

Solution for Question 51

Ans Key: 2

g A+B=4
B+C=6
A=1/2

Number of days taken =

hi A+B=4
B+C=6
A=1/2

ﬁl"{?ﬁﬁ?ﬁgﬁq@nz 120><2=E=18i




Q-52 In how many days C alone can finish the work which was completed by A and B together?
eng

01. 42 02. 48
03. 46 04. 44

05. None of these
Q-52  foraw faAT & C o1aher S 19 1 T T 99al g ST A 37T B 7 frerae @ e am?

01. 42 02. 48
03. 46 04. 44
05. =z & A T

Solution for Question 52

Ans Key: 2

eng Efficiencies of
A=05
B=3.5
C=25
A + B =30 x4 =120 units
C =120/2.5 = 48 days

A=05

B=3.5

C=25
A+B=30x%x4=120%FS
C=1202.5=48 =

Q-53 Find the number of days in which B, C and E together complete the work?

03. 1 04.

05. None of these
Q-53 3 faAt ¥ &eAr A1 B S B, C 7 E Here w8 021 F3d 22

03. 1 04.

05. =9 F IS AT
Solution for Question 53

V  a

Ans Key: 2

eng B + C =20 days
C + E =40 days 120
B + E =30 days

B~ C=20days 6
C + E=40days 120 3
B +E =30days

B+C+E=1312

120x2 240 1

—..——..=13—..
13 13 13

o

hi B + C =20 days
C + E =40 days 120
B + E =30 days

B~ C=20days 6
C + E=40days 120 3
B +E=30days
B+C+E=13/2

20«2 24
120x2 240,01

- - -~ o -

o a




- - -

Q-54

What is the ratio between the number of days taken by B and C together to complete the work to the number of days taken by C and E together to

eng complete the same work?
01. 2:5 02. 3:5
03. 5:2 04. 5:3
05. None of these
Q-54 FEFTHA F (0 B 3T C g forw 137 fG1 it S a1 C #¥ E 337 ST 1 1 H3 & (o0 o0 T faei T ST H7 A7 F4T g2
hi
01. 2:5 02. 3:5
03. 5:2 04. 5:3
05. =H T FIE T2T
Solution for Question 54 Ans Key: 2
= 20:2%% _60:100
3
=35
hi s TLOHY. s
i—= 60 -100
Q-55 By what percent efficiency of C is more or less than the efficiency of A?
01. 75 02. 65
03. 78 04. 30
05. None of these
Q-55  foraw wfdera & C &t zerar A £Y 3eq47 & rfers a1 779 82
01. 75 02. 65
03. 78 04. 80
05. =9 F FTE T40
Solution for Question 55 Ans Key: 4
eng B e W
e = 100 =80
%100 =80
Q-56 A person buys Bananas 75 paise per piece and sells them at Rs.15 per dozen what is the percentage profit ?
eng
1. 9 2.
01 16% 2 33l
3
. 4. 9
03 a6 2% 04. 25%
3
05. None of these
Q-56  UF SEHT T 75 TH FT UF FeAT @LET TAT 15 F./ TS H =TI IHHT Tq90T ATH FATE 2
hi
1. 9 2.
01 16% 2 23ly
3
03. g% 04. 25%
3
05. i & FrE T
Solution for Question 56 Ans Key: 3

eng

C.P. per dozen =0.75 x 12

=Rs.9

S.P. per dozen = Rs. 15

profit % = g,dm



hi i ST H7 L7 = 0.75 x 12=%. 9
i T=tw fawa qe7 = 5. 15
MH % = E,d 00
9
- 862%
3
Q-57 A train travels a journey of 90 k.m. with the constant speed. If speed is increase by 15 kmv/hr. then it takes 30 min less. What is the original speed of train?
eng
01. 45 km/hr. 02. 55 km/hr.
03. 30 km/hr. 04. 60 km/hr.
05. None of these
Q-57  uwE e 90 T, T g T A F a7 FAT g1 AT AT 15 TRt /Avet F=r & S0 a1 a9 30 e 77 T g1 o 6 areqtad i o
hi

01. 45 fefy /moar
03. 30 et /=T
05. =98 | FIS AT

Solution for Question 57

Q-58

Let the original speed of train

=x kamfhr

Accondng to question ——

So, Speed = 45 km/hr.

AT & T AT e T

=x W% ST
90 90

1350 1
%2 +15x
(x-+60)(x—45)=0
X— 45 60

Aq: =T = 45 Ty /e

{x+15) 60

X (x+15) 60
-5 =x? +15x—2700-0

02. 55 fFfy./moar
04. 60 et /=roeT

Ans Key: 1

Two pipes can fill a tank in 10 hours and 12 hours respectively while a third pipe can empty this tank in 20 hours.If all the three pipes are opened

simultaneously, in what time will the tank be filled?

01. 6hours
03. 73 hours
4

05. 7 hours

02. 71 hours
2

04. 8 hours

FT 9T T & FT HHeT: 10 5 TAT 12 5 H 9T Tohd g S T TET 159 T AqY 28 &l 20 5 H GTAT FT ThaT gl AT 1 q757 TF 97

G {2 ST v & oy a9 § @7 9Em?

01. ¢%c
03. 73 =i
4

05. 79¢

Solution for Question 58

02. 71 52
2

04. 8=

Ans Key: 2

eng According to question,
1.1 1. 18
10 12 20 120
1
Time = 75 hours
hi 1 1 1
7_._ R e

10 12 20



16 1.
=120 W-7EE|%

Q-39 A lottery is organized by the college ABC through which they will provide a scholarship of rupees one lakh to only one student. There are 100 fourth-year

eng students, 150 third-year students, 200 second-year students, and 250 first-year students. What is the probability that a second-year student is chosen?
01. 1/7 02. 2/7
03. 3/7 04. 4/7

05. None of these

Q-59  Fierst ABC 3T U Aledl T AT (3647 1A & FSorrs w1es & 3 39t U 27 1 UF A1 €97 67 GrAg iy a7 F7| J09 a9 % 100 7 2,

hi T F 150 T &, AL AT F 200 A 3 AT TAH a9 % 250 A 2| 747 FA1a7 8 T 380% a1 36 ey 7 747 S
01. 1/7 02. 2/7
03. 3/7 04. 4/7
05. =H [ FIE T2T
Solution for Question 59 Ans Key: 2
eng Second year students = 200
so, P =200/700 = 2/7
hi FEY U % BT = 200
Fd:, P=200/700 = 2/7
Q-60 Three cards are drawn from a pack of cards. Find the probability that two cards are of same colour.
eng
01. 25/102 02. 51/204
03. 13/51 04. 29/102
05. None of these
Q-60 TN F UF T F AT T K (HHTAT SITAT S| ZT AT FHIT T 5 G 0T ATTAHAT AT I |
hi
01. 25/102 02. 51/204
03. 13/51 04. 29/102
05. =% qFIS T5l
Solution for Question 60 Ans Key: 3
eng P(E)=2x 26%25x26 13
52x51x50 51
hi P (E)=2x 26X25x26 13
52%51x50 51

Passagé fOl‘El-leSﬁOll 61, 62, 63, 64, 65 (ST-2034SBIPOMAINS(69-73)2019)
eng Passage

The following bar graph represents the number of employees of five companies.

mMale ®mFemale m Children

160 150
140
1 120

120
& 100 100
& 100
= 80 15 = s
o 60 60 60 50
g 50 50 - 50
z 40

20

0

A B c D E

COMPANIES

The following table represents the ratio of salaries of total male, total female and total children of five companies.
Companies | Male : Female : Children | Total Salary (per day)

A Sindud 25000
B 4:4:3 33000
c Firi3 32000
D FieBuid 18000

P I e 24000




o

hi Passage

freferfra are aTE o= Fufeat F FH=TRE £ g7 w1 e ieed #7dr gl

160

=
5 B
s o

& g8 8

0
o

=gy =g " aeT

150
120
100 100
75 80 80
60 60 60 60
50 ' ]
A B C D E
Syt

%7 qferarT O FAATT F |/ &0, 7A Ao AT AL HA TG 6 a7 o AqITd H T 18T FHal gl

e | g wfger B Eﬁ%ﬁﬁ?éﬂﬂ‘
A hChe 25000
B 4:4:3 33000
Lo s k] 32000
D 3i2:1 18000
E 5:4:3 24000
Q-61 Find per day salary of a female of company E?
eng
01. 8000 02. 100
03. 80 04. 800
05. 50
Q-61  FUAT E T UF AIZAT AT 2w Ja+ ATq hitora?
hi
01. 8000 02. 100
03. 80 04. 800
05. 50
Solution for Question 61 Ans Key: 3
eng Per day Salary of females of company E = % x24000 = 8000
Per day salary of one female of company E = 20 I:::I =Rs 80.
100
& FO1 E il HigaArsll &l <4 qdd:%xz4000:8000
FOT E # U A 1 <fFF aa9 = %ﬂzsso.
Q-62 If a man works in company A and his 15 years’ old son works in company D while another man works in company B and his wife works in company C.
eng Then find out the difference of salaries of both families in the month of June?
01. 1200 02. 1500
03. 1300 04. 1600
05. Equal Salary
Q-62  =f3 UF AT FUAT A H FTH FAT € 3T ITHT 15 T T FAAT D § FIH FIAT & T HI15 ZAT AT F0T B H FIH FqT § 37T IO Tt
hi FOAT C H T FTAT g A Q1 TRAT & T 6 Held H Faqdl HT Sq¥ ATq HitorT?
01. 1200 02. 1500
03. 1300 04. 1600
05. TF FH a9
Solution for Question 62 Ans Key: 2
eng

Per day salary of one male of company A = w =Rs. 250



1Ux ou

Per day salary of one child of company D = % =Rs. 50

Salary of June of first family = 30x (250+50) = Rs 9000

Per day salary of one male of company B = 41'133230 =Rs. 150

Per day salary of one female of company C = e 'S 3280000 =Rs. 100

Salary of June of second family = 30x (150+100) = 7500
Difference in salary of these two families in June = 9000 — 7500 = Rs. 1500

B a%qﬁA%wwwéﬁiﬁéﬂﬁ:fl'oﬁfgo =250 =9
FOAT D % UF g T 2(qF qqT = 71618250 =50 =77
AT g TTATL AT ST &0 aad = 30% (250+50) = 9000 T
FOAT B % T T&T T S a0 = 41'133230 =150 =%
FOAT C #iT U HiZET 7 &7 aa = 2;280000 =100 77
;AL TATE T S &0 a4 = 30% (150+100) = 7500 I
2T IRET % ForT S % 3= T 37a< = 9000 — 7500 = 1500 =%
Q-63 What is the ratio of per day salary of three children from company B to the salary of a female of company D for two days?
01. 7:8 02. 89
03. 9:8 04. 9:10
05. 10:9
Q-63  FAAT BF AT agi & (1 9+ ST HAAT D T TF FIEAT % &1 faei % Ja= &7 AT ATq i o2
01. 7:8 02. 89
03. 9:8 04. 9:10
05. 10:9
Solution for Question 63 Ans Key: 4
eng Per day salary of 3 children from company B : Salary of a female of company D for 2 days
3 x 3%33000 . 7 x 218000
1 50 6+ 60
180 200
9 : 10
hi FIAT B % 3 IFT o <7 oad FOT D #FT U wigar & 2 faAi &1 aaq
3X3-33000 . 2X2-18000
112150 6 60
180 200
9 : 10
Q-64 What is the difference of average of per day salary of a child from each company to the average of per day salary of a female from each company?
eng
01. 24 02. 18
03. 20 04. 26
05. 30
Q-64  TIT TOAT H UF ag F < A HT A6 ST T AT HIAT § TF Tl geAT b (7 o0 o SHEd F d= AL AT H1or0?
hi

01. 24 02. 18
03. 20 04. 26
05. 30



Solution for Question 64

Ans Key: 1

eng Average of per day salary of a child from each company
_'1 (2)(25000 3x33000 3x32000 1x18000 3:-(24!]00)
5\ 10x100 11150 8x120 6x60 1260
= % (50+60+100+50+100) = 72
Average of per day salary of a female from each company
1 (3)(250[!0 4x33000 2x32000 2x18000 3)(241]1}0)
5% 10x100 11x150 B8x120 6x60 12X60
- % (100+100+100+100-+80) = 96
Difference =96 — 72 =24
hi T AT | Ueh ag 6 i o 0 Arad
_1 (2)(25000 3x33000 3x32000 1x18000 3:-(24!]00)
5\ 10x100 11150 8x120 6x60 12x60
= % (50+60+100+50+100) = 72
T AT & T AT T <[ Sdq= T S
q (3)(2500{] 4x33000 2X32000 2X18000 3><24BBU)
5% 10x100 11x150 Bx120 6X60 12x60
= % (100+100+100+100+80) = 96
FAL =96-72=24
Q-65 What will be the percentage increase /decrease of daily salary of a female of company B, if that company decided to doubles the total salary of children
and half the total salary of male without changing in total salary of their total employees?
01. 20% increase 02. 20% decrease
03. 25% increase 04. 25% decrease
05. None of the above
Q-65  Fut BT uF "wfgar % v Jaw 7 fraw witera i 3z / w1 gnft 7% 77 Foht o F=rdai % 57 3q7 § 597 agome F39 guagi & |1

AT T AT TAT THUT 6 FHA A H0 AT FLA HT HHAT F2A 2 |

01. 20% Itz 02. 20% FHT
03. 25% 3fx 04. 25% FHT

05. IULIE | T FE A2

Solution for Question 65

no

ﬂﬂﬂﬂﬂ

Total daily salary of 80 males of company B = 23399 = R5 12000
Total daily salary of 120 females of company B = & Rs 12000
Daily salary of one females of company B = 1292¢ = Rs 100

Total daily salary of 150 children of company B = ﬂ =Rs 9000

total new daily salary of 120 females of company B = 33000 — (total new daily salary of 80 males of
Company B — total new daily salary of 150 children of company B)

=33000 — ( % x 12000 + 2 x 9000) = 33000 — 24000 = Rs 9000

New daily salary of one females of company B = % =Rs 75

% decrease of daily salary of a female of company B = % x100 = 25%

Alternate method- Ratio of per day salary of employees of company B is given by 4:4:3 = 1 1unit

Ans Key: 4

According to question - New salary of men= 2 unit, new salary of children = 6unit then new salary of females will

be {11lunit— (6+2)unit }= 3 unit. Therefore ratio of new salary will be 2:3:6 = 11 units
salary of females is decreased by 1 unit. Then required percentage =4'_1;3 x100 =25%

FOAT B 3 80 T&UT il H/eT afea aa = ﬂﬂ{slzooo
FT B T 120 TEHATSH it et & 3 = & 3131000 =Rs 12000



FO=T B FT UF AT F1 2FF T = 1"’000 =Rs 100

120

FOAT B 150 SgT &1 {5 a4 aad = % =Rs 9000

Ef?‘il‘rﬁBaﬁ120H‘%ﬂTﬁTﬂWéﬁ'@ﬁéﬂ?=330007(WB%80WWWWW+WB%lsoaﬁfaﬁr
T 29 3) = 33000 — L x 12000 + 2 x 9000) = 33000 — 24000 = Rs 9000

WBﬁ@qﬁﬂTﬁWFﬂTéﬁ?ﬁaﬁ?% =Rs 75

[ 5]

FOAT B #T U AT o 6 a9 & 9% FHT = 12[\_]50“00:25%

Alternate method-

FOAT B o HHATIAT o a1 & IqaTd = 4:4:3 = 11 T2

T % ATHTL - TEUT H AT 9dd = 2 THTS , ag 1 A 947 94 = 6 THS

TS AIGATAT T FAT AqH = {11 THS — (2+6)3HTS }= 3 THIS

ST T AL T AT = 2:3:6 = 11 THIS TLeq AT FT ad | THTS HH g 74T
ECE WQWH‘%?W=4;_3 x100 =25%

[ Passage for Question 66, 67, 68, 69, 70 (ST-18 IBPS PO PRE R (1-5) 2021)
eng Passage

Study the following information carefully and answer the questions below.

Eight persons P, Q, R, S, T, U, V, and W are sitting around the circular table but not necessarily in same order. Some of them are facing the centre and some are
facing opposite the centre. The people facing the same direction means if one facing the centre then another person also facing the centre and vice versa. The people
facing opposite direction means if one facing the centre then another person facing opposite to the centre and vice versa.

P sits third to the left of S. Only two persons are sitting between P and Q. Q sits second to the left of U. R sits third to the left of V. V is not the immediate neighbour;
of U. W sits second to the left of T. W faces the same direction as U (either facing centre or opposite to the centre). T is not an immediate neighbour of V. R faces
opposite to T. Immediate neighbours of T faces the same directions. P and Q face the opposite direction to each other. Q doesn’t face opposite to the centre.

hi Passage
rafarfaa TTasTd w1 eamgd & sea a9 FL A4 frgag v w g9

a3 =R P,Q, R, S, T, U, V, 3T W ITIEITRIL AT o AT 3NT 95 & ST STdt gl o6 o T 7 | 21| ITH ¥ g 73 Al AT 39 T & 3T 7S 5% 5
%qﬁ?ra@'r%%wW%Jnﬁaﬂaﬁmﬁrwﬁm%mw???zrf%rm%?aﬁﬁ?ﬁam%ﬁ7mwﬁmﬁ#ﬁaﬁt>@wg31T?E1T-?h‘ farha farha
ﬁ?ﬁ#%@ﬁmﬁrwﬁﬁﬁ‘ﬂﬁﬁ%aﬁmﬁﬁ?aﬁﬁﬁt%@’l‘ﬂ%’?ﬁgﬁuomrh%?%lqwm T TR 2 T T AT

P, S 3 91T Y €I 9% 81 P 3T Q 3 i Fhaer a1 =4T<h o5 81 Q, U F a0 g ¥T9 < 927 81 R, V F aT0 diey #19 9¥ g1 V, U F7 [Heheaw T2+t 981
%ﬂ W, T%W?ﬂ%wﬁwaﬂa W, U % 7| feom 7 iz %gm?(mﬁ%aﬁ#rrm%a%%qﬁw T,V &1 UF Hehcaq TS T2l 2l R, TH
IOi‘HId%IT%ﬁdeM TETET gETT fRorTstl # ¥ T g P #i¥ Q U- g@%%qﬁ?r%mﬁ%@?g%lQ%?%%qﬁﬁﬂfraw?l

Q-66  Whosits second to the left of the one who sits third to the right of P?
eng

01. S 02. T
03. U 04. R

05. None of these
Q-66 P 3T FEY I I 93 AT 5 ATU GHIT I 457 82

hi

01. s 02. T

03. U 04. R

05. =i & FrE TE
Solution for Question 66 Ans Key: 1
eng U



U
P R
T
Q-67  Who is immediate neighbor of U?
eng
01. p 02. R
03. Q 04. Both 1 and 2
05. None of these
Q-67 U T e TS :‘\ qﬁﬁ'%”
hi
01. p 02. R
03. Q 04. 1372 AT
05. =it i 7S
Solution for Question 67 Ans Key: 4
eng u
p\ l / R
v—— P
1/ k L—“\<T
hi U
g 8 ' l /“
— PP T
T
Q-68  Whosits third to the left of W?
eng
01. p 02. R
03. U 04. Q
05. v
Q-68 W F ard fiHT Fa T2 22
hi
01. p 02. R
03. U 04. Q
05. v
Solution for Question 68 Ans Key: 3

eng

P
\/_I\/R



T
hi u
P R
T
Q-69  Which of the following odd out of rest?
eng
01. s 02. v
03. 04. Q
05. p
Q-69  fr=forfd & & Fra-wr sy & farer 22
01. S 02. v
03. U 04. Q
05. p
Ans Key: 5
Q-70 ‘Who among the following person facing Q?
01. v 02. p
03. W 04.
05. S
Q-70 fA=fafad & & %19 Q #i s IW@ e 22
0L v 02. p
03. w 04.
05. s
Solution for Question 70 Ans Key: 1

eng

u

Passage for Question 71, 72, 73, 74, 75 (ST-18 IBPS PO PRE R (6-10) 2021)
eng Passage

Study the following information carefully and answer the questions below.

A certain number of persons are seated in a row facing north. Three persons are sitting between Y and N. N sits fifth to the left of M. H is an immediate neighbour
of M. Five persons are sitting between H and Q. As many persons are sit between Q and N is same as to the left of Y. Z sits at the left end of the row. U sits
seventh to the right of Z. J is the third last person seated in a row when counted from the left end and sits fourth to the right of S who sits exactly between H and Q.
At least two persons sit between M and S.




hi Passage

rafafag STasrd £ 1 5qmga T stegaT F AT Ryt ® s

ot 3 2

% At =rftr v dfte & s fRar it e g w2 3 81 9 =1ftE YT N % = 98 €1 N, M 918 9i=e 19 92 927 81 H, M FT aehTe T2THT 21
H 3% Q & &= U= =4f<h 9 g1 Saa =afke Q s N F 9 & 9 g, IqV & Y & aT0 o< &1 Z URE & 910 Y qw 927 81 U, Z F IT3 914 &9 97 8| 5
0 e & AT S7aT & A7 T 9fE § Foo arer e sifaw =2ite g s S % 210 e =T SoT 8 S H 3T Q F S S H 3T g1 M T S F S i A F

Q-71  Whatis the position of Y with respect to U?
eng

01. Third to the right 02. Fourth to the left
03. Third to the left 04. Fourth to the righ

05. None of these
Q-71 UF#HEag § YT Rafq #ar 22

hi
01. =T$ 3 e 02. 97 T =TT
03. 72 3 feer 04. =TS T =TT

05. =% F F1E Al

Ans Key: 4
Q-72  Whosits second to the left of J?
01. Q 02. H
03. Noone 04. 3
05. None of these
Q-72  JFATE AT ZHEIHA 43122
01. Q 02. H
03. FrE T8l 04. S
05,z & 475
Solution for Question 72 Ans Key: 3
- U Y N M H S Q J
STttt Tttt EEEEILESIIELLELE
e rrrrrrrrrrrrrrini
Q-73 How many known persons sit between Z and Y?
01. o 02. 1
03. 2 04. 3
05. None of these
Q-73  ZATYF & had A1q AT 95 82
hi
01. o 02. 1
03. 2 04. 3
05. 2 i v
Solution for Question 73 Ans Key: 2
eng z U ¥ N MH 8.
{
|
hi z u Y N MH S .Q
{
|

Q-74  Which of following statement is true according to N?



eng
1) Jand Q are immediate neighbors of N.

2) M and H are immediate neighbors of N.
3) Nisits fourth to the right of Y.

01. Onlyl 02. Only2
03. Only 1and3 04. All1,2and3

05. None of these
Q-74 fAwfafad & & F19-971 F9 N F A0 921 82
hi 1) J 3T Q, N F qehTet TETHT 2

2) M 3T H, N % qohTel TSI 21

3)N, Y % aT3 F =T &9 92 8l

01. Faer | 02. Feer2
03. Fae 1373 04. o7 1,237 3
05. =H qFIS A5t
Solution for Question 74 Ans Key: 5
eng z U Y N M H 5., i
12 B 55 G 111t
1111 1111
z J ¥ N M H s Q)
2 8 &l tttt
1111 [T11
Q-75 How many persons are sitting in the row?
01. 29 02. 30
03. 31 04. 32
05. 28

Q-75  tifeR ¥ fer = 45 32

01. 29 02. 30
03. 31 04. 32
05. 28
Solution for Question 75 Ans Key: 3
Z u ¥ N M H g QJ
z J ¥ N M H 5 Q)

Q-76 Study the following information carefully and answer the questions given below.

eng
J is the father of K and L. K and M are a married couple and they have only two sons P and Q. K is the sister of L and daughter of S. P is the brother of

W. O, who is the wife of L.

How many female members are there in the family?

01. 5 02. 4
03. 6 04. 3

05. Cannot be determined

Q-76 fawfafaa FIrasTd 1 eaAgds srsgga L AT fegaw st & 39

. J, K 3% LT a1 81 K 31T M U QITEre[ar SIeT & of¥ 3A% Fa a7 9 P 3i¥ Q g1 K, L T a8+ 3f¥ S &t =Y 81 P, W FT 9T 1 O, L #T Tt &)
afiam & fraet afger aaeg 32
01. 5 02. 4

03. ¢ 04. 3



05. oo Lt o ST &ehar

Solution for Question 76

Ans Key: 2

eng

[}
——

=2
n

W
(@]

.U';‘-'R

g
o5

[}
——

=2
n

W
(@]

O~ =
Ry

W -

Q-77

eng

Q-77

Solution for Question 77

Study the following information carefully and answer the questions given below.

J is the father of K and L. K and M are a married couple and they have only two sons P and Q. K is the sister of L and daughter of S. P is the brother of
W. O, who is the wife of L.

How is J related to W?

02. Sister
04. Grand mother

01. Daughter
03. Grand daughter

05. None of these
Fraforfaa IaaTh &1 s\ E® Aegaa 3 A TA= Frgag i F s

J, K ¥ LT 9491 81 K 31T M U 9ITere[aT SIeT & 3f¥ 3A% et af o2 P 3i¥ Q 1K, L #t a5+ 3i¥ S &1 T 81 P, W &T 91T g1 O, L &t et 21

I, W T %9 H5efaa 22

01. ‘;{—cﬁ' 02. Fg=
03. Iz efex 04. d=HeT

05. = & FrE AT
Ans Key: 5

A

M=K

wn

Q-78

eng

Q-78

Study the following information carefully and answer the questions given below.

J is the father of K and L. K and M are a married couple and they have only two sons P and Q. K is the sister of L and daughter of S. P is the brother of
W. O, who is the wife of L.

If T is daughter of O then how is K related to T?

02. Niece
04. Sister

01. Maternal aunt

03. Paternal aunt

05. Cannot be determined
Aafrfad ITaHTd F 1L TETIT HFL TR FRTAT I F IATRN

J, K 3% LT a1 81 K 31T M U 9ITEre[aT SIET & of¥ 3A% Fa a7 9 P 3i¥ Q g1 K, L T a8+ sfi¥ S &t T 81 P, W FT 9T 1 O, L #T 7T &)

fa T, 0 F1 T & AT K, T & F4 Haiferd 82

01. oy 02. Him
03. 3 04.
05. fReifea agt T ST aahar



Solution for Question 78

Ans Key: 3

eng

Q-79

eng

Q-79

In each question below are given three statements followed by two conclusions numbered I and I1. You have to take the given statements to
be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given
conclusions logically follows from the given statements, disregarding commonly known facts.

Statement:

Only few P are R.
Some R are Q.

Alone Q are S.
Conclusions:

I. Only few P isnot R.
II. No Sis R.

01. TIfonly conclusion I follows. 02. Ifonly conclusion II follows.

03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.

05. Ifboth conclusions I and 11 follow.

3 ferrr s 7 & AT wa7 fRuar g fma arar fAsed 1T frgae &) sros feg rg g frgeg qram g, aa gr a
ATHATIT: ATq AT F T 7efia gra gh)| fsed o st Fpraa X o o agwaay & & f17 a1 faosd frogrgsgai a arffssoa
T FLAT §, ATHTIT: ATT TSI FT ATGATT HIAT |

HI:

Fad 13 PEl R 3l
FFR, Q
TFATQ, S Bl

I. #a %= P, R =1 &l
I TS S, R 72T 2l

01. =fe Faer A [ SIgE F2ar 2 02. Ffe Faer fAFd 11 SFEeor F2aT 2|
03. =rfe 77 1 fAehd 137 11 e Fwar 21 04 7fe 7 a7 fAead 1 8ie 7 €Y 11 sgaeor #7ar 2
05. rfg AT Ao [ ¥ 11 STE 3 2l

Solution for Question 79 Ans Key: 5
eng

hi

Q-80 In each question below are given three statements followed by two conclusions numbered I and I1. You have to take the given statements to
eng be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given

conclusions logically follows from the given statements, disregarding commonly known facts.

Statement:

Only A are B.
Some A are C.
Some D are B.
Conclusions:

I. Some D are A.



II. Some C being B is a possibility.

01. Ifonly conclusion I follows. 02. TIfonly conclusion II follows.
03. TIfeither conclusion I or II follows. 04. TIfneither conclusion I nor II follows.
05. Ifboth conclusions I and II follow.

Q-80 AfrrvrrAFITR ATFATRTITE OFF ara 3 favwd 1T frga ) srowr e Ty w1 FT QT ATAATE, AR ET A
hi qTATAT: 77 7T 8 T3 wefia gra g1 | fread o she e ag X P IR rusaal § @ staarfassd frgresaai a arfFsso @

HTHL FIAT ], ATATAT: ATT TF] AT AAgATT HLAT R |

HqA:

Fad A, B 2

FZ A, C3l

F@ D, B8l

IRLEDF

L FWB D, AT

1. %% C &1 B T UF HHTET 21

01. 7f Faer Aoy [ ST F2aT g 02. 7fg Faer Ay 11 SATET F2aT 2

03. Frfx =7 a1 g 13T [ e #xar gl 04, =fe 7 a7 e 1 37 7 2 11 1820 F2dT 2|

05. =rfg T Ao 1 3T 11 STE= F7d 2
Solution for Question 80 Ans Key: 1
Q-81 In each question below are given three statements followed by two conclusions numbered I and II. You have to take the given statements to

be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given

conclusions logically follows from the given statements, disregarding commonly known facts.

Statement:

NoAisC.

Only O are B.

Alone C are O.

Conclusions:

I. Some B being A is a possibility.

II. Some O are A.

01. if only conclusion I foliows. 02. if only conclusion iI follows.

03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
Q-81 AT TTAFITR AT FI7RTTTE FFF F17 37 foad [T 1 Frg T §| sast AT Ty 971 TG ATAATE, A G
hi qraT=aa: 79 a2qT F F vefia 19 gh) fsed o s fprag X fo fRrg g g & @ sYg arfased fRrgargsaaia arffssvd@

FAATT FLAT §, ATATAT: AT TSI F 1 ATZAAT HLAT |

FAT:

FE A, C 72l 2l

Fa 0, B &l

FFA C, O gl

sy

1. = B T A g1 UF HHATEAT 2

IL %Z 0,A 2l

01. Ff Faer AT [ a0 F3aT gl 02. Ffs Faer At 11 SAqET F2aT 2

03. rf =7 a1 Ao 13T [ st Fxar gl 04, =fs 7 v A 1 sire 7 2 11 sT|eor 2T 2

05. fz =T e 1 =/ 11 SIEeor F3d &
Solution for Question 81 Ans Key: 4
eng

P . Y



Q-82 In each question below are given three statements followed by two conclusions numbered I and II. You have to take the given statements to
eng be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given

conclusions logically follows from the given statements, disregarding commonly known facts.

Statement:

Few B are X.

Some B are not V.

AllVareY.

Conclusions:

1. SomeBareY.

II. No Y is B.

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.

03. Ifeither conclusion I or II follows. 04. If neither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
Q-82 AT TTAFITH AT FITRTITE SFF T17 37 owd [T R au | ot fAg Ty w971 T T ATAATE, HA ZT S

QUATAT: ATT a4 & T wdfia gra gh) e o st aa a1 % e o aat & @ #1791 faved freregai @ arfds €04

HAALT HLAT §, ATATAT: AT TSI H 1 ATZAAT HLAT & |

FAT:

T B, X &l

FZ B, VTl 2l

aftv,YE

Ao

. Z B,Y &

L. F Y, B! 2

01. =fg Faer Ao [ STET FXar 2| 02. 7fg Fger Ao [1 FATETT F2aT g

03. rfg 77 ar Aoy [ 37 I srgaeor Fxar g1 04 =fa 7 a7 o 1 3 7 81 11 180T :7aT g

0S. wfe =TT et 1 =i 1 SIqEeor F2d &l
Solution for Question 82 Ans Key: 3
Q-83 In each question below are given three statements followed by two conclusions numbered I and I1. You have to take the given statements to
eng be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given

conclusions logically follows from the given statements, disregarding commonly known facts.

Statement:

Only few P are C.

Some C are Q.

Alone Q are E.

Conclusions:

I. AllPcanbeE.

II. Al Q can be C.

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.

03. TIfeither conclusion I or II follows. 04. TIfneither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
Q-83 R frTwTy AT I d A7 w7 Ruawg s a1 fssd 1T R aw ) srasy g Tg Fa71 FT AT ATAATE, TR ET S
hi TATT: 19 7T & T 7ol gra g1 | frsad o skt e ag < I frgrusaal § 9 staarfassd frgresaai a arfdsso 4

AL HLAT §, ATATAT: TTT ASFT F T ATGATT HLAT g



IL. 747 Q, C BT T 2|

01. 7fx Faer AT [ SIqEoT F3aT gl 02. fy Faer AT 11 SIEer F:7aT 21
03. rfy =7 a1 Ao 13T s Fxar gl 04, =rfs 7 v fAeed 1 sie 7 2 11 sT|eor 2T 2
05. fz =T et 1 =/ [ SIEeor F3d &

Solution for Question 83 Ans Key: 4
eng

() < Qo)
hi

Passage for Question 84, 85, 86, 87, 88 (ST-18 IBPS PO PRE R (19-23) 2021)
eng Passage

Study the following information carefully and answer the questions below.

Nine boxes—P, Q, R, S, T, U, V, W, and X are placed one above the other vertically, not necessarily in the same order. Only three boxes are placed between Q
and U which is not the lowermost box. W has placed three places below R but kept immediately above T. Number of boxes placed between S and V is the same
as Vand U. Q is kept immediately below X which is not the topmost box. V and W are placed in one of the places below Q. Only three boxes are placed between
S and R.

hi Passage
: rafafaa ITasTd w71 samgd® sreqqq 3 AT A= frgag i ® s

AT FF - P,Q,R, S, T, U, V, W, 31T X &l UF TAY % UL daad L@ AT ¢, STELT Agl 1o SHI g1 w7 7 2l Q 3T U f= Fae oI aie 79 T g ST o
T =T atee At g1 W T R I 1 19 A1 T@T 37 g Ao T ST S @1 TaT 2l ST VF T H T MU S Fr 8 VAR U S § 7E
T FTFT T HAT & FH 21 Q I T X | A1+ T@T AT g ST JaH FUL AT A9 Agl gl V 3T W T Q F 1= et 19 9% T@1 1971 81 S 3T R & &=
FaeT qIT AT T T

Q-84 How many boxes are kept between S and X?

eng
01. None 02. One
03. Two 04. Three
05. Five

Q-84 ST X F &= e atam T U F?

hi
01. =< gl 02. T
03. =7 04. FF
05. q=

Solution for Question 84 Ans Key: 1

eng sl. Box
No.

| B | | | =
= p|=x|wn




(=N R R AT,
Hl=z|c|o|=

d

i
;

W00 |~ oy | W | e
“H|ls|lc|e|=|=<|o|x|w

Q-85

eng

Q-85

Which of the following box is placed immediately below Q?

01. S 02.
03. X 04.

05. R

v
W

Frerforfea § o Fi-a7 9t Q F 31 {19 @71 AT 82

01. S 02.
03. X 04.

05. R

Solution for Question 85

5l.
Mo,

A

= |

‘ Box
1
|
|

K

| R

| w |
< | D

. s

LClieid(h|un
=

'l

:

i
-

wlo|~|o|w|s|w|u]-

|l |c|o|=| < |0|x|wn

Ans Key: 2

Q-86

eng

What is the position Q in the arrangement?

01. Keptat Top 02.
03. Second from the bottom 04.

05. Second from the top
FEET | Q T €T F47T 22

01. offf o= T@T TIT 02.
03. :ﬁ%r@rgﬂ'{'r 04.

05. 9T | o

Solution for Question 86

Lowermost box
Third from the top

a1 T@T T 9
FUT e

Ans Key: 4

eng

. | FFH



&
i 5
2 X
3 a
4 v
5 R
6 P
7 U
8 W
9 T
hi #. | ated
&
1 S
2 X
3 a
4 vV
5 R
6 P
7 u
8 W
9 T
Q-87  Risplace immediately above which of the following box?
01. w 02. U
03. p 04. S
05. X
Q-87 R TAHfefea # 7 e ais & qa 302 T@1 T 82
01. w 02. U
03. p 04. S
05. X
Solution for Question 87 Ans Key: 3
sl. | Box
_I‘~.'_o. -
1 5
2 | X
S | e,
4 v |
5 R |
6 P ]
7 =
3 W
g T
hi %. | ared
faiell
1 S
2 X
3 o}
4 v
5 R
6 P
7 u
8 W
9 T
Q-88 Four of the following five are alike in a certain way and hence form a group. Find the one which does not belong to that group?
eng
01. U-T 02. S—-Q
03. X-V 04. P-U
05. P—-WwW
Q-88  frwforfed o= & 9 U (A T+ | UF 39 8 ¥ S0y UF 94 a91d ¢l 98 J1d F o1 36 qg F qaidd qai g7
hi

01. U-T 02. S-Q



03. X-V 04. P-U
05. P-wW

Solution for Question 88

Ans Key: 4

eng

sl Box

=
o

wloo|~t|o|u| & lw|m| =
—lgc1m-::pxm

Passage for Question 89, 90, 91, 92, 93 (ST-18 IBPS PO PRE R (24-28) 2021)

d

e
i

el = - ) T - O N
—|E|c|o|=| =<|0]|x|w

eng Passage

Study the following information carefully and answer the questions below.

A girl is going to her dance class in a week, starting on Sunday and ending on Saturday. There is a day off in this week. Every day she learns different dance forms

like ghoomar, ballet, kathak, belly, salsa and hiphop but not necessarily in the same order.

The girl learnt Ballet on either Thursday or on Tuesday. She was attending the class of Salsa and the class of Ballet on consecutive days where Salsa class is held
after the Ballet class. There is a gap of two days between the class of Salsa and the class of Belly. The day which is Holiday is not Sunday. There is no dance class
between the dance class of Belly and the dance class of Hip-Hop which is not held on Sunday. There is no holiday between Hip-hop and Belly class. She attends
the class of Ghumar on Saturday. The number of days between the class of Kathak and the class of Belly is equal to the number of days between the class of
Ghumar and the class of Ballet. The class of Kathak is held neither on Monday nor on Thursday. Day immediate after the class of Kathak is not a holiday.

hi Passage

fafafaa ITasTd w1 samgd ® qegaa L AT A= g ag i ® s

T TS UF TATE, ST LA F [ ST of9aT 7 G608 21 W21 €, H 194 o7 FeAT | o7 T 81 37 9678 # U {37 gt 71 21 g7 R 98 Sonr-srem g0

®Y SH-TH, I, FAF, AT, ATAT 3T Fagia diadt g i STt 981 {6 6T &1 %7 |

FEHT F TEAT AT TIAATE T el HET| g AT T FHeAT ST A T FHedT § ATAT TEAT F AW o T 20T ST AT AT FeqT & T3 FATAAT T FET gl 2
T o FEAT ST IAT o HEAT 6 A= & fae1 A7 i g o &7 sraamer 2rar 8 ag Taa 981 g1 St 67 o F&7 3T B2 F 7 Fea1 F 7 w1
TA FeAT AR & ST TIAATT T AT Aal o0l St g1 Ba-51T 3T ST FHedT o S Hls a9 Al gl A AAATE AT AT T HEAT ST 81 FAF ST AT
1 T % A= FaAT T e qw Y FAT S For Y FeAr F o AT A 6T F awraT g1 FAF B HAT T AT ATHATE HI ST T EF I[EATE AT ST T
STTAT | T il FeqT & qId a1 Gal T (o 7gl 2l

Q-89

eng

The girl attends the class of Salsa on which of the following days?

01. Tuesday 02. Friday
03. Monday 04. Thursday

05. None of these
et Aeferfea faat ® & e fae s iy ear § wrr ot 82

01. TeE™ 02. 3R
03. AT 04. AT
05. = 1S TEH

Solution for Question 89

Ans Key: 2



eng

Day

Dance

Sunday

kathak

Monday

hip-hop

Tuesday

belly

Wednesday

holiday

Thursday

ballet

Friday

salsa

Saturday

ghumar

[ ®=

LEEI

HATAL

Col
Exica

oHa | BT &g
el

5

AN | HIPIA

AT

EEl

AehdT | HIeTHT

thﬂﬂ

HAT

Q-90

eng

Q-90

hi

eng

hi

The class of Belly scheduled on which day?

01. Day just before Holiday

03. Monday

05. None of These

et it T o o et i 12

01. =gt & 3 et 7 fae

03. HHaTT

05. =i 7 475 T

Solution for Question 90

Day

Dance

Sunday

i‘u‘l on r,d v

Tuesday
Wednesday

kathak |

hip-.f.m.(lp
belly

holiday

Thursday

ballet

Friday

salsa

Saturday

ghumar

&=

=—m

IgaR | &UF |

oHar | BT g

HIleldl{

x

aell
2

E_E;GEHI

ael

AehdT | HIeTHT

thﬂﬂ

HAT

02.
04.

02.
04.

Day just after Holiday
Day just after Wednesday

el % ST ara 7 {2
AT % 3 12 7 fae

Ans Key: 1

Q-91

eng

Which of the following combination is not true?

01. Thursday-Ballet
03. Monday-Belly
05. Wednesday-Holiday

Rraferfed & & F17-a7 §4S qet 1l 82

Solution for Question 91

02.
04.

02.
04.

Saturday-Ghumar
Sunday-Kathak

ATAT- AT
REEIEEPET

Ans Key: 3

eng

Day

Dance

Sunday

kathak

Monday

hip-hop

Tuesday

belly



Wednesday holiday
Thursday ballet
Friday salsa
Saturday ghumar
hi e | 77
Taar | FuF
oHar | B9 8w
HITE | el
FUAR | aw
THER | s
A | HISTHT
e | TR
Q-92  Which of the following statements is/are not true?
eng
01. Girl attended the class of Ballet on 02. Class of Hip-Hop held on Saturday
Wednesday
03. Class of Kathak held on one of the days ~ 04. Both 1 and 2
after the class of Belly
05. None is true
Q-92 FwfiEd ® & F19-91 F99 9 Toi a/a?

01. =T F ForaTe T 1 AT FedT H TR
o

03. Fft T FedT & U o a1 FF AT FAT
AT g2

05. FrEfiaaagiz

02. orfaTe A1 fR-gi fit Far srfoa g

04. | =22t

Solution for Question 92 Ans Key: 5
__Day | Dance |
Sunday _ kathak
Monday hip-hop
Tuesday belly
Wednesday holiday
Thursday ballet
Friday salsa
Saturday | _P,I‘:LH?‘@:
BEEEE
iaar | Fu& |
OHEaR | BT g™
EeecicdET
FUAR | @@ |
;H‘CE:I ﬁ
AshA | HISTHT
AaR | TR
Q-93  How many classes are held in between the class of Hip-Hop and the class of Salsa?
eng
01. One 02. Three
03. Five 04. Two
05. Four
Q-93  TRu-giw & Fear ofi¥ AT it FElT F A1 AT F:eATd 82
hi
01. us 02. =
03. o= 04. =
05. 91<
Solution for Question 93 Ans Key: 2

eng

Day Dance
Sunday kathak
Monday hip-hop
Tuesday belly




Wednesday holiday
Thursday ballet
Friday salsa
Saturday ghumar
hi [ Rm [ =
Taar | FuF
WHar | B9 g
HitoaL | el
UGN | T
TR | ol
AqshA | HISTHT
AR | TR
Q-94 Study the following information and answering the questions referring to the word sequence given below.
eng
NEXT ACID BACK COME DARK
If words are arranged according to the alphabetical series from right to left, then which word is third from the left end?
01. ACID 02. BACK
03. COME 04. NEXT
05. DARK
Q-94 fufafgaImEEa FTaegIT R AT U TT U357 SIFHH F dat § A FTIACR

hi

Q-95

eng

NEXT ACID BACK COME DARK

T2 oreal T I | ATT AT JUHATAT FGAT F ATHE AGRAT AT STTAT 2, T FHIH-HT 2752 AT BT F AT 82

01. ACID

03. COME
05. DARK
Solution for Question 94

NEXT ACID BACK COME DARK

02. BACK
04. NEXT

After arrangement = NEXT DARK COME BACK ACID

As per the new series the word which is third from the left end is COME

NEXT ACID BACK COME DARK

STEET o a7~ NEXT DARK COME BACK ACID

TS G % ATHTT T8 ST 914 I A AT & T8 COME 2 |

Study the following information and answering the questions referring to the word sequence given below.

NEXT ACID BACK COME DARK

Ans Key: 3

If each letter is arranged according to the alphabetical series within each word (from left to right), then which is the fourth letter of the word, which is
second from the left end?

01. A
03. C

05. None of these

et ST w1 AsggT F AT T IT a5z 7w F g § 7O #7139

NEXT ACID BACK COME DARK

02.
04.

D
I

T TeF &I HT TcAF U578 & A1 (AT | I(0) FUHTAT GAT F SFTHE AATEAT AT STTAT 2, T A58 ST 70 T F AT & HT ATAT AT

FI-AT 22

01. A
03. C

05. T & FrE AEF

Solution for Question 95

02.
04.

D
I

Ans Key: 4




eng NEXT ACID BACK COME DARK
After arrangement = ENTX ACDI ABCK CEMO ADKR

As per the new series word which is second from the left end is ACDI and the fourth letter of this word is I.

hi NEXT ACID BACK COME DARK
ST % AT8-> ENTX ACDI ABCK CEMO ADKR
TE QAT % 953 F AGATY, S AT4 S § AT 2, 98 ACDI 2 3T TH 168 HT AT & 1’ 2

Q-96  Study the following information and answering the questions referring to the word sequence given below.

en
& NEXT ACID BACK COME DARK

If each vowel in the word is changed to its previous letter and each consonant change to the next letter according to the alphabetical series, then how many
words contain vowel?

01. One 02. Two
03. Three 04. Four

05. None of these
Q-9¢ FeffraamsEdsTaaTR = Ruarvass sagwa F gt & v FTI9CF

NEXT ACID BACK COME DARK

Tt ore § YT T T AVHTAT FEAT o AT 0 Tgel AT | Fa (FT ST 8 3T TAF AT I JUHATAT F@AT % FTATT 3T AT §
Fa STAT 8, AT Fohae oreal # w7 82

01. = 02. =7
03. &= 04. =TT
05. zit i s
Solution for Question 96 Ans Key: 3

NEXT ACID BACK COME DARK
After arrangement = ODYU ZDHE CZDL DNND EZSL

As per the given new series, the words which contain vowel are: ODYU, ZDHE and EZSL

NEXT ACID BACK COME DARK
&7 % 1€ > ODYU ZDHE CZDL DNND EZSL
& TS TS JGAT F AT, ST orea1 § ¥¥ §: ODYU, ZDHE 3T EZSL

Q-97 Study the following information and answering the questions referring to the word sequence given below.
NEXT ACID BACK COME DARK

If each consonant in the word is changed to its next letter according to the alphabetical series, then how many meaningful words can be formed?

01. One 02. Two
03. Three 04. Four
05. None of these
Q-97 fAufafag IFTa FTAHeagT R MTA= RTTT a57 1wy F g2l § wai #7139
NEXT ACID BACK COME DARK

T 9158 F T S Hl JUHTAT AT F ATHTE I 3T AT | T2 (24T ST, qT T AT o7e2 a7 T 82

01. = 02. =7

03. d= 04. =¥

05. it & v
Solution for Question 97 AnsKey: 1
eng NEXT ACID BACK COME DARK

After arrangement—> OEYU ADIE CADL DONE EASL

As per the new series there is only one word which is meaningful and framed and that word is DONE.



hi NEXT ACID BACK COME DARK
TEET % 912 > OEYU ADIE CADL DONE EASL

TS 4Gl P SR el T Ueg & St 30l § 3R I8 Weq DONE B

Q-98 Study the following information and answering the questions referring to the word sequence given below.

en
& NEXT ACID BACK COME DARK

If 2nd and 4th letters of each word are interchanged, then how many meaningful words can be formed?

01. One 02. Two
03. Three 04. More than three
05. None
Q-98 fAufafag ITFTA FT AT R MTAD FRTAT a5T ATHH F Fasf § woai F#7137C
hi
NEXT ACID BACK COME DARK
T TeF U7 & AL ST AT AL T SATH | T& (AT ST g AT [ AT 9758 o Hohdl 22
01. = 02. =7
03. = 04. T | faF
05. Frs 72t
Solution for Question 98 Ans Key: 5
NEXT ACID BACK COME DARK
After arrangement - NTXE ADIC BKCA CEMO DKRA
As per the given series, there are no meaningful words formed after the operation.
So, answer is NONE.
NEXT ACID BACK COME DARK
AT & 16— NTXE ADIC BKCA CEMO DKRA
<1 T2 AT 5 AL, A T I T8 % =7 A7 /1 97w TG a0 &)
v, 3L HIE Tl
Q-99 In the following questions, the relationship between different elements is shown in the statements. The statements are followed by three conclusions. Find

out which of the following options is correct and mark your answer accordingly.

Statements: P>E>S;S=D;E<F

Conclusions: I.D<E I.S<P . P>F
01. Either IT or Il is correct. 02. Only conclusion I is incorrect.
03. Neither II nor III are correct. 04.  All conclusions are correct.

05.  Only conclusion II is correct.
Q-99 fAwforfed woai &, Forat 7 fafser qeat i daer 9T 797 €1 F99 F a7 qiF Aoy 30 0 ) 7 Ja Sriorg 3% e § § #r a7 faweT @@
hi 7 SfIY T8 AT T I & fateAq F | = F2

Fqq: P>E>S;S=D;E<F

fased:  1.D<E I.S<P H.P>F

01. =17 &7 I1 3T I &&T 2 02. Faer TR 111 T 21

03. T aTII3/T T 2T [ F&T 21 04. T+t e =T 2

05. Faer o 11 98T g
Solution for Question 99 Ans Key: 3
eng Given statements: P>E>S;S=D;E<F

Conclusions:

I.D<E->True(asD=S<E<P->thusD<E)

II.S<P->True(asD=S<E<P->thusS<P)

lll. P>F - False (as D =S < E < P; E <F - thus the clear relation between A and F cannot be determined)



Hence, conclusion | and Il are correct and conclusion Il is incorrect.

hi U FIT: P>E>S;S=D;E<F
Ao
I.LDKE>TT(D=S<E<P->THIRLD<E)
I.S<P>TT(D=S<E<P>TATFRTS<P)
. P>F > False (D=S<E<P;E<F > T YHT A T F F Fi T8 gaer fRerifia 7t o o @evar 2)
zofery, e | sfe 11 w8t € 3T e 111 1 2

Q-100 In the following questions, the relationship between different elements is shown in the statements. The statements are followed by three
eng conclusions. Find out which of the following options is correct and mark your answer accordingly.

Statements: I1>K=C,D<E=K;F>E

Conclusions: I.F>C I.J<F .o =1
01. No conclusion is correct. 02. Only conclusion II is incorrect.
03. Neither I nor III are correct. 04.  All conclusions are correct.

05. Only conclusion I is correct.
Q-100 frufafag vt &, Faw1 & fafsrs aeai & S ddg qafar 177§ FI7F I 171 feawef g giagara A e fadasta
1 faFer a3t § T gad Agare sy ST T FHfeaa w1 Rfema #32)

CTRIEE J>K=CD<E=K;F>E

s LF>C  ILJ<F  ILLD>)

01. F7< Aot 7287 721 21 02. Farer fAeshd 11 o7 21
03. FaTIsHT T AT 2 04. Fft ey 72T 2
05. Farer foreeed [ 711 21
Solution for Question 100 Ans Key: 5

Given statements: ] >K=C,D<E=K; F>E

Conclusions:

I.F>C - True (as F>E = K= C - thus we can conclude that F > C)

II.J<F—>False(asJ>K=C=E>D;F>E=K=C—> F>K=C=E>D;J>K but the clear relation between J and F cannot be determined)
lIl.D>J > False (asJ>K=C=E>D —> D<J; thus, it is clear that the given conclusion is incorrect.)

Hence conclusion | is correct.

RTTUFIT: J>K=C;D<E=K F>E

ﬁ-'?"h_'i;:

I.F>C->8A (F>E=K=C-> IH IHE gH Ig Aehy [Hahret dod 3 6 F> C)
NJ<F>TEMa(J>K=C=E>D;F>E=K=C->F>K=C=E>D;J> K ) 3% F 3% i w1z "oy [Faifia 72t frar s aar 2)
H.D>J>TEd (J>K=C=E>D - D <J; 380 YHTY, g T g T faa o fAed 1era 21)

zafor frod | w8 2




